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BOOKS - MODERN PUBLISHERS CHEMISTRY (HINGLISH)

BIOMOLECULES

Solved Examples

1. Write the formula of a tripeptide alanylglycyl phenylalanine.

Watch Video Solution

2. A tripeptide on complete hydrolysis gives glycine, alanine, and

phenylanine,using three-letter symbols write down the possible

sequences of the tripeptide.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_VioW60bQXbDn
https://dl.doubtnut.com/l/_90hLeOLqMGfM


3. In E. coli DNA,  ratio is . If the number of moles of adenine

in its  sample is  calculate the number of moles of guanine

present.

Watch Video Solution

AT /GC 0.93

DNA 465, 000,

4. A DNA molecule with more number of GC base pairs than AT base pairs

has higher  than the one with lesser number of GC base pairs than AT

base pairs. Explain why?

Watch Video Solution

Tm

5. The two samples of   and  have melting tempreatures 

 and ,respectively. Can you draw any conclusion from this

data regarding their base content?

Watch Video Solution

DNA, A B

(Tm)340 350K

https://dl.doubtnut.com/l/_90hLeOLqMGfM
https://dl.doubtnut.com/l/_ctDfPK3sTbBw
https://dl.doubtnut.com/l/_T739M1jyS6VQ
https://dl.doubtnut.com/l/_IinaqO9xFRJX


Conceptual Questions 1

6. What will be the sequence of bases on the strand of DNA that would be

complentary to strand having the following sequence of bases : 

Watch Video Solution

A  A  T  C  G  T  A  G  G  C

1. Why are carbohydrates generally optically active ?

Watch Video Solution

2. How do anomers differ from epimers?

Watch Video Solution

https://dl.doubtnut.com/l/_4QyRXvKd92Rv
https://dl.doubtnut.com/l/_FkEknCf2vcla
https://dl.doubtnut.com/l/_m8reuseCx8Cn


3. What do you mean by pitch or frequency ? What is difference between

them ?

Watch Video Solution

4. Is a diet consisting mainly of rice an adequate diet? Why or why not?

Watch Video Solution

5. Amylose and cellulose both are linear polymers of glucose. The

different between them is:

Watch Video Solution

6. What are reducing and non-reducing sugars ? What is the structural

feature characterising reducing sugars ? What is an invert sugar ?

Watch Video Solution

https://dl.doubtnut.com/l/_AXklR2ZLO7Ln
https://dl.doubtnut.com/l/_zZ5auvaEgm8B
https://dl.doubtnut.com/l/_8IflvaodlzHg
https://dl.doubtnut.com/l/_cxI35uKt34IU


7. Draw open chain structure of an aldopentose and aldohexose. Predict

the number of asymmetric carbon atoms present in each.

Watch Video Solution

8. What is meant by inversion of sugar ?

Watch Video Solution

9. Give reason for the following : 

(i) Glucose does not give 2, 4 D.N.P. test or Schiff's reagent test. 

(ii) Amino acids have high melting points and are water soluble.

Watch Video Solution

https://dl.doubtnut.com/l/_cxI35uKt34IU
https://dl.doubtnut.com/l/_u33fhPzSelMd
https://dl.doubtnut.com/l/_de6f8ESqxbxH
https://dl.doubtnut.com/l/_QSHK5TUg6Rqj


10. Write any two reactions of glucose which cannot be explained be the

open chain structure of glucose molecule.

Watch Video Solution

11. Write a reaction which shows that all the carbon atoms in glucose are

in a straight chain.

Watch Video Solution

12. Name the linkage connecting monosaccharide units in

polysaccharides.

Watch Video Solution

13. Give one example each for a disaccharide and a polysaccharide.

Watch Video Solution

https://dl.doubtnut.com/l/_0yRah8mrq0VZ
https://dl.doubtnut.com/l/_JRCRPGrnKs7k
https://dl.doubtnut.com/l/_3jWdf2mWc7bR
https://dl.doubtnut.com/l/_28mN6GWEUDg3


14. Hydrolysis of sucrose gives

Watch Video Solution

15. What are the products of hydrolysis of lactose?

Watch Video Solution

16. The disaccharide present in milk is

Watch Video Solution

17. Write the product when D-glucose reacts with conc. 

Watch Video Solution

HNO3

https://dl.doubtnut.com/l/_28mN6GWEUDg3
https://dl.doubtnut.com/l/_fWVc8n9Pksrl
https://dl.doubtnut.com/l/_CXJJFrrHsZAl
https://dl.doubtnut.com/l/_v3lTMiXTSaca
https://dl.doubtnut.com/l/_QdMInUxdGiNb


Conceptual Questions 2

18. Which type of linkage is present in amylopectin?

Watch Video Solution

1. (i) Which vitamin deficiency causes rickets? 

(ii) Name the base that is found in nucleotide of RNA only.

Watch Video Solution

2. How many naturally occurring amino acids in proteins exist? How many

of these are synthesised by the body ?

Watch Video Solution

3. Tabulate differences between DNA and RNA.

https://dl.doubtnut.com/l/_Wfg5Sw43e86y
https://dl.doubtnut.com/l/_NebRAnv6iKip
https://dl.doubtnut.com/l/_RVqZgiV1I4Hy
https://dl.doubtnut.com/l/_lH0haExN2rQY


Watch Video Solution

4. Differentiate between primary and secondary structures of proteins.

Watch Video Solution

5. amino acids are those which

Watch Video Solution

α

6. State the use of interferon and insulin in medicines.

Watch Video Solution

7. What type of linkage holds together the monomers in DNA ?

Watch Video Solution

https://dl.doubtnut.com/l/_lH0haExN2rQY
https://dl.doubtnut.com/l/_mSacDisAi742
https://dl.doubtnut.com/l/_PdshGRftSzwN
https://dl.doubtnut.com/l/_Lynn9Q8lJCrg
https://dl.doubtnut.com/l/_JfdYKBGbZeNP
https://dl.doubtnut.com/l/_nFoFRr4dpsG0


8. What are the main functions of the hormone adrenaline?

Watch Video Solution

9. Name the enzyme present in human saliva. What type of food material

is digested by this enzyme ?

Watch Video Solution

10. Which of the following is not an -amino acid? 

Cysteine, Tyrosine, Trypsin, Proline, Serine

Watch Video Solution

α

11. What are non-essential amino acids? Give one example.

Watch Video Solution

https://dl.doubtnut.com/l/_nFoFRr4dpsG0
https://dl.doubtnut.com/l/_jwYhKILEI65G
https://dl.doubtnut.com/l/_hdFcGqrZux0m
https://dl.doubtnut.com/l/_gF2tYZoPCMEC
https://dl.doubtnut.com/l/_y1PtI5j4Tgbz


12. How are nucleosides, nucleotides and nucleic acids related?

View Text Solution

13. What is prosthetic group?

Watch Video Solution

14. What is the function of enzyme present in liver?

Watch Video Solution

15. Fresh tomatoes are a better source of vitamin C than those present in

tomatoes which have been stored for some time.

View Text Solution

https://dl.doubtnut.com/l/_y1PtI5j4Tgbz
https://dl.doubtnut.com/l/_PThhg6DNJoN2
https://dl.doubtnut.com/l/_QoqSNsvRKwAm
https://dl.doubtnut.com/l/_TPfnmcSzZyF6


16. Which enzyme converts sucrose into glucose and fructose?

Watch Video Solution

17. Name the enzyme which converts 

(i) maltose into glucose 

(ii) glucose into alcohol

View Text Solution

18. What are histones? What are their functions?

Watch Video Solution

19. What are coenzymes ? Give example.

Watch Video Solution

https://dl.doubtnut.com/l/_3fHmPGngyktt
https://dl.doubtnut.com/l/_hOmnJrxJJsDf
https://dl.doubtnut.com/l/_gbivkgQtcVVV
https://dl.doubtnut.com/l/_ZrCbRAZspzaR
https://dl.doubtnut.com/l/_nQ7ftEoOqGuf


20. What is isoelectric point?

View Text Solution

21. Name the vitamin whose deficiency causes (i) Night blindness (ii) Poor

coagulation of blood.

Watch Video Solution

22. Amino acids have high melting points and are soluble in water.

Watch Video Solution

23. What is meant by secondary structure of proteins ?

Watch Video Solution

https://dl.doubtnut.com/l/_nQ7ftEoOqGuf
https://dl.doubtnut.com/l/_3UE5RSCPOte0
https://dl.doubtnut.com/l/_MJo9Nii7FpEL
https://dl.doubtnut.com/l/_jadPmNQKTWQG


24. What are essential and non-essential amino acids? Give two examples

of each.

Watch Video Solution

25. Differentiate between Keratin and insulin.

Watch Video Solution

26. Write the zwitterion structure for glycine.

Watch Video Solution

27. What type of forces are responsible for the formation of -pleated

sheet structure?

View Text Solution

β

https://dl.doubtnut.com/l/_lG69sPCAFiBc
https://dl.doubtnut.com/l/_cjMRmoE0rC87
https://dl.doubtnut.com/l/_jUPqQvVfg1sb
https://dl.doubtnut.com/l/_1W0SsuKi7W3A
https://dl.doubtnut.com/l/_eYGNEOQgv5ui


28. Write the chemical name of vitamin .

View Text Solution

B)12

29. What is the chemical name of vitamin C and which disease is caused

by its deficiency?

View Text Solution

30. What is the chemical name of vitamin A and which disease is caused

by its deficiency?

View Text Solution

31. What are the three types of RNA molecules which perform different

functions ?

Watch Video Solution

https://dl.doubtnut.com/l/_eYGNEOQgv5ui
https://dl.doubtnut.com/l/_6CpjAAuK9Yen
https://dl.doubtnut.com/l/_DZRyYI3VT2pL
https://dl.doubtnut.com/l/_1No75SVFW038


32. Vitamin C is found in fruits and vegetables. It cannot be stored in our

body. Why?

View Text Solution

33. Name the vitamins whose deficiency cause (i) rickets (ii) night

blindness, (iii) scurvy.

View Text Solution

34. Which of the following amino acids is not optically active

Watch Video Solution

35. The metal present in vitamin  is

Watch Video Solution

B12

https://dl.doubtnut.com/l/_1No75SVFW038
https://dl.doubtnut.com/l/_D6Gh4vrPD9uv
https://dl.doubtnut.com/l/_8d08GyjSSCoO
https://dl.doubtnut.com/l/_xJT5HBUN7Bym
https://dl.doubtnut.com/l/_ejOfxRoX7msu


Ncert File Ncert In Text Question

36. The base present in RNA but not found in DNA is :

Watch Video Solution

37. Name one fibrous and one globular protein.

Watch Video Solution

1. Glucose or sucrose are soluble in water but cyclohexane or bezene

(simple six membered ring compounds) are insoluble in water. Explain.

Watch Video Solution

2. What are the products of hydrolysis of lactose?

Watch Video Solution

https://dl.doubtnut.com/l/_wjV7aM1PTSsC
https://dl.doubtnut.com/l/_50qaKgRKhGXn
https://dl.doubtnut.com/l/_47pICHEg44KY
https://dl.doubtnut.com/l/_8gaonkoZIyuw


3. How do you explain the absence of aldehyde group in the pentaacetate

of D-glucose ?

Watch Video Solution

4. The melting points and solubility in water of amino acids are generally

higher than that of the corresponding halo acids. Explain.

Watch Video Solution

5. Where does the water present in the egg go after boiling the egg ?

Watch Video Solution

6. Why cannot vitamin  be stored in our body ?

Watch Video Solution

C

https://dl.doubtnut.com/l/_8gaonkoZIyuw
https://dl.doubtnut.com/l/_lgCXhsG0jNJM
https://dl.doubtnut.com/l/_VNtA2WSbApmF
https://dl.doubtnut.com/l/_tVzQzsBANa0Z
https://dl.doubtnut.com/l/_qynraMwO380l


Ncert File Ncert Textbook Exercises

7. What products would be formed when a nucleotide from DNA

containing thymine is hydrolysed?

Watch Video Solution

8. When RNA is hydrolysed, there is no relationship among the quantities

of different bases obtained. What does this fact suggest about the

structure of RNA?

Watch Video Solution

1. What are monosaccharides?

Watch Video Solution

https://dl.doubtnut.com/l/_qynraMwO380l
https://dl.doubtnut.com/l/_vKF1DueMavEk
https://dl.doubtnut.com/l/_fydmsEWr1Vm5
https://dl.doubtnut.com/l/_bhGhBheix4Q9
https://dl.doubtnut.com/l/_Eqb0yp3LzNd2


2. What are reducing sugars?

Watch Video Solution

3. Write two main functions of carbohydrates in plants.

Watch Video Solution

4. Classify the following into monosaccharides and disaccharides.

A. Ribose and 2- Deoxyribose

B. maltose

C. galactose

D. fructose

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Eqb0yp3LzNd2
https://dl.doubtnut.com/l/_kVnXD68eh93E
https://dl.doubtnut.com/l/_T8jttxUw90Q8
https://dl.doubtnut.com/l/_t3trrzFz0ZRA


5. What do you understand by the term glycosidic linkage?

Watch Video Solution

6. What is glycogen? How is it different from starch?

Watch Video Solution

7. What are the hydrolysis products of  sucrose and  lactose?

Watch Video Solution

(i) (ii)

8. What is the basic structural difference between starch and cellulose?

Watch Video Solution

https://dl.doubtnut.com/l/_t3trrzFz0ZRA
https://dl.doubtnut.com/l/_45wfsT83naII
https://dl.doubtnut.com/l/_kR10g99nADHh
https://dl.doubtnut.com/l/_89wLp0Xf886X


9. What happenes when glucose is treated with the following

reagents? 

(i).  


(ii).Bromine water 

(iii). 

Watch Video Solution

D −

HI

HNO3

10. Enumerate the reactions of -Glucose which cannot be explained by

its open-chain structure.

Watch Video Solution

D

11. What are essential and non-essential amino acids? Give two examples

of each.

Watch Video Solution

https://dl.doubtnut.com/l/_Ws30ndzYH1iL
https://dl.doubtnut.com/l/_mDdw6rB3SVF0
https://dl.doubtnut.com/l/_LDKq78LvD5IG
https://dl.doubtnut.com/l/_Xs0NRA849ooC


12. Define the following as related to proteins : 

(i) Peptide linkage 

(ii) Primary structure 

(iii) Denaturation

Watch Video Solution

13. What are the common types of secondary structures fo proteins?

Watch Video Solution

14. What type of bonding helps in stabilising the -helix structure of

proteins ?

Watch Video Solution

α

15. Differentiate between globular and fibrous proteins.

Watch Video Solution

https://dl.doubtnut.com/l/_Xs0NRA849ooC
https://dl.doubtnut.com/l/_SszbTMl7hq1I
https://dl.doubtnut.com/l/_aSElI4MDKW6F
https://dl.doubtnut.com/l/_KhDn1wMpGXQW


16. How do you explain the amphoteric behaviour of amino acids?

Watch Video Solution

17. what are enzymes?

Watch Video Solution

18. What is the effect of denaturation on the structure of proteins?

Watch Video Solution

19. How are vitamines classified? Name the vitamin responsible for the

coagulation of blood.

Watch Video Solution

https://dl.doubtnut.com/l/_KhDn1wMpGXQW
https://dl.doubtnut.com/l/_8LVbP7EyxRhf
https://dl.doubtnut.com/l/_uWxG5pjZaxF2
https://dl.doubtnut.com/l/_4D02PEzTf7LA
https://dl.doubtnut.com/l/_BnSyeoZ6hPV2


20. Why are vitamin  and vitamin  essential for us? Give their

important sources.

Watch Video Solution

A C

21. What are nucleic acids ? Mention their two important functions.

Watch Video Solution

22. What is the difference between a nucleoside and nucleotide ?

Watch Video Solution

23. Two strands in DNA are not identical but are complementary. Explain?

Watch Video Solution

https://dl.doubtnut.com/l/_LIwlbHXdfYUY
https://dl.doubtnut.com/l/_4rzbugYvS72p
https://dl.doubtnut.com/l/_X9pzV2wMpBs6
https://dl.doubtnut.com/l/_DHpAtGWumLUZ


Ncert Exemplar Problems Multiple Choice Questions Type I

24. Write the important structral and functional differences between DNA

and RNA.

Watch Video Solution

25. What are the different types of  found in the cell?

Watch Video Solution

RNA

1. Glycogen is a branched chain polymer of  glucose units in which

chain is formed by  glycosidic linkage where as branching occurs

by the formation of  glycosidic linkage. Structure of glycogen is

similar to .... .

A. Amylose

B. Amylopectin

α − D

C1 − C4

C1 − C6

https://dl.doubtnut.com/l/_iAQWz7Vh2KpC
https://dl.doubtnut.com/l/_P0zQ09anNl8j
https://dl.doubtnut.com/l/_sZLQQq9FtOEo


C. Cellulose

D. Glucose

Answer: B

Watch Video Solution

2. Which of the following polymer is stored in the liver of animals ?

A. Amylose

B. Cellulose

C. Amylopectin

D. Glycogen

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_sZLQQq9FtOEo
https://dl.doubtnut.com/l/_OKls3Bgqr61S


3. Sucrose (cane sugar) is a disaccharide. One molecule of sucrose on

hydrolysis gives

A. 2 molecules of glucose

B. 2 molecules of glucose +1 molecule of fructose

C. 1 molecule of glucose + 1 molecule of fructose

D. 2 molecules of fructose

Answer: C

Watch Video Solution

4. Which of the following pairs represents anmors?

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_oUhbJaek8kMz
https://dl.doubtnut.com/l/_Oz7kklW8dWEd


Answer: C

Watch Video Solution

5. Proteins are found to have two different types of secondary structures

viz -helix and -pleated sheet structure. -helix structure of protein is

stabilised by

A. Peptide bonds

B. van der Waals forces

C. Hydrogen bonds

D. Dipole-dipole interactions

Answer: C

Watch Video Solution

α β α

https://dl.doubtnut.com/l/_Oz7kklW8dWEd
https://dl.doubtnut.com/l/_54kE89aStcOj


6. In disaccharides, if the reducing groups of monosaccharides, i.e.,

aldehydic or ketonic groups are bonded, these are non-reducing sugars.

Which of the following disaccharide is a non-reducing sugar?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

7. Which of the following acids is a vitamin?

A. Aspartic acid

B. Ascorbic acid

C. Adipic acid

https://dl.doubtnut.com/l/_oqIkgGQHDQky
https://dl.doubtnut.com/l/_Z1VflaLgOxYX


D. Saccharic acid

Answer: B

Watch Video Solution

8. Dinucleotide is obtained by joining two nucleotides together by

phosphodiester linkage. Between which carbon atoms of pentose sugars

of nucleotides are these linkages present ?

A. 5' and 3'

B. 1' and 5'

C. 5' and 5'

D. 3' and 3'

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Z1VflaLgOxYX
https://dl.doubtnut.com/l/_Ex1Dkx8PP0DG
https://dl.doubtnut.com/l/_PAAUfBmx2R8k


9. Nucleic acids are the polymers of

A. Nucleosides

B. Nucleotides

C. Bases

D. Sugars

Answer: B

Watch Video Solution

10. Which of the following statements is not true about glucose?

A. It is an aldohexose

B. On heating with HI it forms n-hexane.

C. It is present in furanose form

D. It does not give 2,4-DNP test.

https://dl.doubtnut.com/l/_PAAUfBmx2R8k
https://dl.doubtnut.com/l/_yDTMVe6Sl8s9


Answer: C

Watch Video Solution

11. Each polypeptide in a protein has amino acids linked with each other

in a specific sequence. This sequence of amino acids is said to be... .

A. primary structure of proteins

B. secondary structure of proteins.

C. tertiary structure of proteins

D. quaternary structure of proteins.

Answer: A

Watch Video Solution

12. DNA and RNA contain four bases each. Which of the following bases in

not present in RNA?

https://dl.doubtnut.com/l/_yDTMVe6Sl8s9
https://dl.doubtnut.com/l/_6CAMiyS4xTnQ
https://dl.doubtnut.com/l/_w1gJpw0wWOD1


A. Adenine

B. Uracil

C. Thymine

D. Cytosine

Answer: C

Watch Video Solution

13. Which of the following B group vitamins can be stored in our body?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Vitamin B1

Vitamin B2

Vitamin B6

Vitamin B12

https://dl.doubtnut.com/l/_w1gJpw0wWOD1
https://dl.doubtnut.com/l/_J4ofNQnbMyXa


14. Which of the following bases is not present in DNA?

A. Adenine

B. Thymine

C. Cytosine

D. Uracil

Answer: A

Watch Video Solution

15. Three cyclic structures of monosaccharides are given below. Which of

these are anomers? 

A. I and II

B. II and III

https://dl.doubtnut.com/l/_J4ofNQnbMyXa
https://dl.doubtnut.com/l/_Vi5Ciolk8Zau
https://dl.doubtnut.com/l/_eRxYB6ebZNOO


C. I and III

D. III is anomer of I and II

Answer: C

View Text Solution

16. Which of the following reactions of glucose can be explained only by

its cyclic structure?

A. Glucose forms pentaacetate

B. Glucose reacts with hydroxylamine to form an oxime

C. Pentaacetate of glucose does not react with hydroxylamine.

D. Glucose is oxidised by nitric acid to gluconic acid

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_eRxYB6ebZNOO
https://dl.doubtnut.com/l/_S2T0eyLhXa9G
https://dl.doubtnut.com/l/_eZb31Xs2kdF3


17. Optical rotations of some compounds along with their structures are

given below. Which of them have D configuration? 

A. I, II, III

B. II, III

C. I, II

D. III

Answer: C

View Text Solution

18. Structure of a disaccharide formed by glucose and fructose is given

below. Identify anomeric carbon atoms in monosaccharide units. 

A. 'a' carbon of glucose and 'a' carbon of fructose.

https://dl.doubtnut.com/l/_eZb31Xs2kdF3
https://dl.doubtnut.com/l/_jhn1hrD5gOWU


Ncert Exemplar Problems Multiple Choice Questions Type Ii

B. 'a' carbon of glucose and 'e' carbon of fructose.

C. 'a' carbon of glucose and 'b' carbon of fructose.

D. 'f' carbon of glucose and 'f' carbon of fructose. 19.

Answer: C

View Text Solution

1. Carbohydrates are classified on the basis of their bahaviour on

hydrolysis and also as reducing or non-reducing sugar. Sucrose is a ............ .

A. monosaccharide

B. disaccharide

C. reducing sugar

D. non-reducing sugar

https://dl.doubtnut.com/l/_jhn1hrD5gOWU
https://dl.doubtnut.com/l/_UqH9oqTsQAmH


Answer: A::C

Watch Video Solution

2. Proteins can be classified into two types on the basis of their molecular

shape, i.e., fibrous proteins and globular proteins. Examples of globular

proteins are

A. Insulin

B. Keratin

C. Albumin

D. Myosin

Answer: B::D

Watch Video Solution

https://dl.doubtnut.com/l/_UqH9oqTsQAmH
https://dl.doubtnut.com/l/_KW5Brfcahzxn


3. Which of the following carbohydrates are branched polymer of

glucose?

A. Amylose

B. Amylopectin

C. Cellulose

D. Glycogen

Answer: B::D

Watch Video Solution

4. Amino acids are classified as acidic, basic or neutral depending upon

the relative number of amino and carboxyl groups in their molecule.

Which of the following are acidic?

A. 

B. 

(CH3)2CH − CH
|  

NH2

− COOH

HOOC − CH2 − CH2 − CH
|  

NH2

− COOH

https://dl.doubtnut.com/l/_dKpIURj4EbIO
https://dl.doubtnut.com/l/_BD45h8QpxQMm


C. 

D. 

Answer: A::B

Watch Video Solution

H2N − CH2 − CH2 − CH2 − COOH

HOOC − CH2 − CH
|  

NH2

− COOH

5. Lysine,  is...... .

A. -Amino acid

B. Basic amino acid

C. Amino acid synthesised in body

D. -Amino acid

Answer: A::C

Watch Video Solution

H2N − (CH2)4 − CH
∣

 NH2

− COOH

α

β

https://dl.doubtnut.com/l/_BD45h8QpxQMm
https://dl.doubtnut.com/l/_1qze7YExlaMi
https://dl.doubtnut.com/l/_2ZcpJ0hFIkFf


6. Which of the following monosaccharides are present as five membered

cyclic structure (furanose structure)?

A. Ribose

B. Glucose

C. Fructose

D. Galactose

Answer: B::D

Watch Video Solution

7. In fibrous proteins, polypeptide chains are held together by........ .

A. van der Waals forces

B. disulphide linkage

C. electrostatic forces of attraction

D. hydrogen bonds

https://dl.doubtnut.com/l/_2ZcpJ0hFIkFf
https://dl.doubtnut.com/l/_SxcJEBHQRYLu


Answer: B::D

Watch Video Solution

8. Which of the following are purine bases?

A. Guanine

B. Adenine

C. Thymine

D. Uracil

Answer: A::B

Watch Video Solution

9. Which of the following terms are correct about enzyme?

A. Proteins

https://dl.doubtnut.com/l/_SxcJEBHQRYLu
https://dl.doubtnut.com/l/_OC4w0DAB5Pe7
https://dl.doubtnut.com/l/_FvDiYhaFVgH2


Ncert Exemplar Problems Short Answer Type Questions

B. Dinucleotides

C. Nucleic acids

D. Biocatalysts

Answer: A::D

Watch Video Solution

1. Name the sugar present in milk. How many monosaccharide units are

present in it? What are such oligosaccharides called?

Watch Video Solution

2. How do you explain the presence of all the six carbon atoms in glucose

in a straight chain?

Watch Video Solution

https://dl.doubtnut.com/l/_FvDiYhaFVgH2
https://dl.doubtnut.com/l/_QaWX88NVTd7V
https://dl.doubtnut.com/l/_nlSD7ttn1mr3


3. In nucleoside, a base is attached at 1' position of sugar moiety.

Nucleotide is formed by linking of phosphoric acid unit to the sugar unit

of nucleoside. At which position of sugar unit is the phosphoric acid

linked in a nucleoside to give a nucleotide?

Watch Video Solution

4. Name the linkage connecting monosaccharide units in polysaccharides.

Watch Video Solution

5. Under what conditions glucose is converted to gluconic acid and

saccharic acid?

Watch Video Solution

https://dl.doubtnut.com/l/_nlSD7ttn1mr3
https://dl.doubtnut.com/l/_hHEDaIwx9cgR
https://dl.doubtnut.com/l/_1mEJaAo5F59o
https://dl.doubtnut.com/l/_WEQK5Lxk0zdN


6. Monosaccharides contain carbonyl group hence are classified, as aldose

or ketose. The number of carbon atoms present in the monosaccharide

molecule are also considered for classification. In which class of

monosaccharide will you place fructose?

Watch Video Solution

7. Letters 'D' or 'L' before the name of a stereoisomer of a compound

indicate the correlation of configuration of that particular stereoisomer.

This refers to their relation with one of the isomers of glyceraldehyde.

Predict whether the given compound has 'D' or 'L' configuration. 

Watch Video Solution

8. Aldopentoses named as ribose and 2-deoxyribose are found in nucleic

acids. What is their relative configutation?

Watch Video Solution

https://dl.doubtnut.com/l/_TSIXwJaIiq1V
https://dl.doubtnut.com/l/_qxJ49TPX4ltd
https://dl.doubtnut.com/l/_xD2PaW0e4t2C


Watch Video Solution

9. Which sugar is called invert sugar? Why is it called so?

Watch Video Solution

10. Amino acids can be classified as -and so depending

upon the relative position of amino group with respect to carboxyl group.

Which type of amino acids form polypeptide chain in proteins?

Watch Video Solution

α − , β − , γ − , δ

11. helix is a secondary structure of proteins formed by twisting of

polypeptide chain into right handed screw like structure. Which type of

interactions are responsible for making the -helix structure stable?

Watch Video Solution

α −

α

https://dl.doubtnut.com/l/_xD2PaW0e4t2C
https://dl.doubtnut.com/l/_uhCfagFDhWYD
https://dl.doubtnut.com/l/_3U3wEYcbczFX
https://dl.doubtnut.com/l/_WDP9rK1tiAdQ


12. Some enzymes are named after the reaction, where they are used.

What name is given to the class of enzymes which catalyse the oxidation

of one substrate with simultaneous reduction of another substrate?

Watch Video Solution

13. During curdling of milk, what happens to sugar present in it?

Watch Video Solution

14. How do yout explain the presence of five  groups in glucose

molecule?

Watch Video Solution

−OH

15. Why does compound (A) given below not form an oxime? 

https://dl.doubtnut.com/l/_h96Uc3itDhlf
https://dl.doubtnut.com/l/_rQB27r5bUoTG
https://dl.doubtnut.com/l/_YzKDFWuQMwIn
https://dl.doubtnut.com/l/_MjWsJtH7ARcL


View Text Solution

16. Why must vitamin C be supplied regularly in diet?

Watch Video Solution

17. Sucrose is dextrorotatory but the mixture obtained after hydrolysis is

laevorotatory. Explain.

Watch Video Solution

18. Amino acids behave like salts rather than simple amines or carboxylic

acids. Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_MjWsJtH7ARcL
https://dl.doubtnut.com/l/_ashNxcjyllrG
https://dl.doubtnut.com/l/_FIkVHMMm8hh8
https://dl.doubtnut.com/l/_6wXZeSTwloZt


19. Structure of glycine and alanine are given below. Show the peptide

linkage in glycylalanine. 

Watch Video Solution

H2N − CH2 − COOH, H2N − CH
∣

CH3

− COOH

( Gylcince )                            ( Alanine )

20. Protein found in a biological system with a unique three-dimensional

structure and biological activity is called a native protein. When a protein

in its native form, is subjected to a physical change like change in

temperature or a chemical change like, change in pH, denaturation of

protein takes place. Explain the cause.

Watch Video Solution

21. Activation energy for the acid catalysed hydrolysis of sucrose is

, while the activation energy is only  when

hydrolysis is catalysed by the enzyme sucrase. Explain.

6.22kJmol− 1 2.15kJmol− 1

https://dl.doubtnut.com/l/_K4yOp6xvSGzE
https://dl.doubtnut.com/l/_z7k1tD4g4pLu
https://dl.doubtnut.com/l/_T5QvtFxgfyCB


Watch Video Solution

22. How do you explain the presence of an aldehydic group in a glucose

molecule?

Watch Video Solution

23. Which moieties of nucleosides are involved in the formation of

phosphodiester linkage present in dinucleotides? What does the word

diester in the name of linkage indicate? Which acid is involved in the

formation of this linkage?

Watch Video Solution

24. What are glycosidic linkages? In which type of biomolecules are they

present?

Watch Video Solution

https://dl.doubtnut.com/l/_T5QvtFxgfyCB
https://dl.doubtnut.com/l/_wwXQ4f4MwU0B
https://dl.doubtnut.com/l/_BAO9iUFcPoTf
https://dl.doubtnut.com/l/_XQ4h6NMlqLxB


25. Which monosaccharide units are present in strach, cellulose and

glucose and which linkage link these units?

Watch Video Solution

26. How do enzymes help a substrate to be attacked by the reagent

effectively?

Watch Video Solution

27. Describe the term D- and L-configuration used for amino acids with

examples.

Watch Video Solution

28. How will you distinguish  and  hydroxyl groups present in

glucose? Explain the reactions.

1∘ 2∘

https://dl.doubtnut.com/l/_XQ4h6NMlqLxB
https://dl.doubtnut.com/l/_uyNfrKgv4zD4
https://dl.doubtnut.com/l/_YaShG2RRLUb1
https://dl.doubtnut.com/l/_AOBxfuhcD2yp
https://dl.doubtnut.com/l/_J261JbLyZ8PX


Ncert Exemplar Problems Matching Type Questions

Watch Video Solution

29. Coagulation of egg white on boiling is an example of denaturation of

protein. Explain it in terms of structural changes.

Watch Video Solution

1. Match the vitamins given in Column I with the deficiency disease they

cause given in Column II. 

View Text Solution

2. Match the following enzymes given in Column I with the reactions they

catalyse given in Column II. 

https://dl.doubtnut.com/l/_J261JbLyZ8PX
https://dl.doubtnut.com/l/_30w7DRbA0ziA
https://dl.doubtnut.com/l/_gc21Rbju4oHv
https://dl.doubtnut.com/l/_xBA9LLsGQ2sm


Ncert Exemplar Problems Assertion And Reason Type Questions

View Text Solution

1. Assertion (A) :  Glucose is dextrorotatory in nature.


Reason (R) : 'D' represents its dextrorotatory nature.

A. Assertion and reason both are correct statements and reason

explains the assertion.

B. Both assertion and reason are wrong statements.

C. Assertion is correct statement and reason is wrong statement.

D. Assertion is wrong statement and reason is correct statement.

Answer: C

Watch Video Solution

D( + ) −

https://dl.doubtnut.com/l/_xBA9LLsGQ2sm
https://dl.doubtnut.com/l/_WZ3XNg7WNtE5
https://dl.doubtnut.com/l/_t1XHAaRnoWbZ


2. Assertion (A) Vitamin D can be stored in our body. 

Reason (R) Vitamin D is fat soluble vitamin.

A. Assertion and reason both are correct statements and reason

explains the assertion.

B. Both assertion and reason are wrong statements.

C. Assertion is correct statement and reason is wrong statement.

D. Assertion is wrong statement and reason is correct statement.

Answer: A

Watch Video Solution

3. Assertion (A) All naturally occurring -aminoacids except glycine are

optically active. 

Reason (R) Most naturally occurring amino acids have L-configuration.

α

https://dl.doubtnut.com/l/_t1XHAaRnoWbZ
https://dl.doubtnut.com/l/_tuNhQfOZlDdc


A. Assertion and reason both are correct statements and reason

explains the assertion.

B. Both assertion and reason are wrong statements.

C. Assertion is correct statement and reason is wrong statement.

D. Assertion and reason both are correct statements but reason does

not explain assertion.

Answer: D

Watch Video Solution

4. Assertion (A) Deoxyribose,  is not a carbohydrate. 


Reason (R) Carbohydrates are hydrates of carbon so compounds which

follow  formula are carbohydrates.

A. Assertion and reason both are correct statements and reason

explains the assertion.

B. Both assertion and reason are wrong statements.

C5H10O4

Cx(H2O)y

https://dl.doubtnut.com/l/_tuNhQfOZlDdc
https://dl.doubtnut.com/l/_bgtsqKLWqpVS


C. Assertion is correct statement and reason is wrong statement.

D. Assertion is wrong statement and reason is correct statement.

Answer: B

Watch Video Solution

5. Assertion (A) Glycine must be taken through diet. 

Reason (R) It is an essential amino acid.

A. Assertion and reason both are correct statements and reason

explains the assertion.

B. Both assertion and reason are wrong statements.

C. Assertion is correct statement and reason is wrong statement.

D. Assertion is wrong statement and reason is correct statement.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_bgtsqKLWqpVS
https://dl.doubtnut.com/l/_2026rMoh2akn


Quick Memory Test Accelerate Your Potential For Objective Questions A Say

True Of False

6. Assertion (A) In presence of enzyme, substrate molecule can be

attacked by the reagent effectively. 

Reason (R) Active sites of enzymes hold the substrate molecule in a

suitable position.

A. Assertion and reason both are correct statements and reason

explains the assertion.

B. Both assertion and reason are wrong statements.

C. Assertion is correct statement and reason is wrong statement.

D. Assertion is wrong statement and reason is correct statement.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_2026rMoh2akn
https://dl.doubtnut.com/l/_U10mHPOXLu0G
https://dl.doubtnut.com/l/_tocyQle0XsER


1. Both glucose and fructose are reducing sugars but sucrose is non

reducing in nature. Why?

Watch Video Solution

2. Lecithin is an -amino acid.

Watch Video Solution

α

3. Starch has the components amylose and amylopectin.

Watch Video Solution

4. Chemically, denaturation does not change the primary structure of

proteins.

Watch Video Solution

https://dl.doubtnut.com/l/_tocyQle0XsER
https://dl.doubtnut.com/l/_YPIscl2sj07a
https://dl.doubtnut.com/l/_w9D2wqejXuDj
https://dl.doubtnut.com/l/_K4GMuhd9js52
https://dl.doubtnut.com/l/_ZEcHBo42lEk2


5. State true / false :- The disease albinism is caused by the deficiency of

enzyme tyrosinase.

Watch Video Solution

6. Uracil occurs in DNA and not in RNA.

Watch Video Solution

7. Lactose on hydrolysis with dil.HCl gives

Watch Video Solution

8. Glycogen is a polymer of glucose units.

Watch Video Solution

https://dl.doubtnut.com/l/_ZEcHBo42lEk2
https://dl.doubtnut.com/l/_Y5Z8hfTs2OQv
https://dl.doubtnut.com/l/_KTiaOsYrKDgn
https://dl.doubtnut.com/l/_nZFREWpAOH0i


9. -Amino acids show basic character due to - COO- group and acidic

character due to  group.

Watch Video Solution

α

−NH +
3

10. Glucose and fructose from identical osazones because :

Watch Video Solution

11. The synthesis of proteins is governed by DNA.

Watch Video Solution

12. When glucose is heated with methanol in the presence of dry HCl gas,

it forms one methyl glycoside.

Watch Video Solution

https://dl.doubtnut.com/l/_UI1mCbXwfw8M
https://dl.doubtnut.com/l/_F4DrQTIar3cA
https://dl.doubtnut.com/l/_hseqrRBrXdPq
https://dl.doubtnut.com/l/_7AA1pxUVqfey
https://dl.doubtnut.com/l/_mOIXUdoL8HVC


Quick Memory Test Accelerate Your Potential For Objective Questions B

Complete The Missing Links

13. Alanine and valine are neutral -amino acids.

Watch Video Solution

α

14. Keratin, fibroin and collagen are fibrous proteins.

Watch Video Solution

15. Deficiency of vitamin D causes rickets.

Watch Video Solution

1. The sugar in DNA is 

Watch Video Solution

:

https://dl.doubtnut.com/l/_mOIXUdoL8HVC
https://dl.doubtnut.com/l/_gKgmxqeWGdew
https://dl.doubtnut.com/l/_RC48aogJGCAL
https://dl.doubtnut.com/l/_QuEHnfAn9T9H


2. Cellulose is a linear polymer of

Watch Video Solution

3. Amylopectin is a polymer of :

Watch Video Solution

4. the acidic group in aqueous solution of glycine is

Watch Video Solution

5. Deficiency of molybdenum causes

Watch Video Solution

6. Change in the sequence of nucleotide in DNA is called as

https://dl.doubtnut.com/l/_59CiN0rdYk5b
https://dl.doubtnut.com/l/_4JMKt3U4hs5b
https://dl.doubtnut.com/l/_z1xEJpmaOCd5
https://dl.doubtnut.com/l/_dpsoyVASTuyK
https://dl.doubtnut.com/l/_S0bfuWBhX4di


Watch Video Solution

7. Heart attacks can be checked by using the enzyme …………………

Watch Video Solution

8. The chemical name of vitamin  is…………………..

View Text Solution

B12

9. Nucleotide constituent of RNA are

Watch Video Solution

10. The two strands of DNA are held together by 

Watch Video Solution

:

https://dl.doubtnut.com/l/_S0bfuWBhX4di
https://dl.doubtnut.com/l/_wxOgHAUogkC1
https://dl.doubtnut.com/l/_OIb621IYotUR
https://dl.doubtnut.com/l/_nQmUF1oaFohX
https://dl.doubtnut.com/l/_UihnJNz71MOr
https://dl.doubtnut.com/l/_Gxpo0DSu9W7j


11. Most of the naturally occurring ………………………. have D-configuration

while most of the naturally occurring …………………….. have L-configuration.

Watch Video Solution

12. Starch is converted to maltose by

Watch Video Solution

13. The pentose sugar in  and  has the :

Watch Video Solution

DNA RNA

14. Denaturation of proteins

Watch Video Solution

https://dl.doubtnut.com/l/_Gxpo0DSu9W7j
https://dl.doubtnut.com/l/_ZUWULm1xETES
https://dl.doubtnut.com/l/_cUveeyTRmGI4
https://dl.doubtnut.com/l/_4wb3ZEoonqAZ


Quick Memory Test Accelerate Your Potential For Objective Questions C

Choose The Correct Alternative

15. The molecule in which one of the nitrogen bases is bonded with a

sugar molecule is called …………………..

View Text Solution

1. Glucose, Mannose and fructose.give identical osazones. Explain

Watch Video Solution

2. Why is DNA molecule considered as a better hereditary material than

RNA molecule ?

Watch Video Solution

https://dl.doubtnut.com/l/_zk9p2F0yUWdj
https://dl.doubtnut.com/l/_2ZAsCRy8rgyi
https://dl.doubtnut.com/l/_LBRxgRfkwkq6


3. The chemical name of vitamin  is

Watch Video Solution

B1

4. Xerophthalmia in children and nyctalopia (Night blindness ) in adults is

caused by the deficiency of vitamin

Watch Video Solution

5. The acidic character of glycine is due to 

group.

Watch Video Solution

−COO−  group/NH +
3

6. Which pyrimidine is absent in DNA but present in RNA?

Watch Video Solution

https://dl.doubtnut.com/l/_4GTIG9UGYnf9
https://dl.doubtnut.com/l/_MP4e54SgDADL
https://dl.doubtnut.com/l/_OhxJkWWk5cnq
https://dl.doubtnut.com/l/_eYLj88eXhHdS
https://dl.doubtnut.com/l/_feFWrJAM2HNn


7. Guanine is a purine/pyrimidine.

Watch Video Solution

8. Which enzyme converts sucrose into glucose and fructose?

Watch Video Solution

9. Which structure of proteins involve in denaturation?

Watch Video Solution

10. Collagen is a fibrous /globular protein.

Watch Video Solution

https://dl.doubtnut.com/l/_feFWrJAM2HNn
https://dl.doubtnut.com/l/_OE8smcbOs4u6
https://dl.doubtnut.com/l/_YQKV2yuXgucx
https://dl.doubtnut.com/l/_QIlznKmTPOck


Revision Exercises Objective Questions Multiple Choice Questions

11. At isoelectric point the amino acids have least /maximum solubility in

water.

Watch Video Solution

12. -D glucose and -D -glucose are

Watch Video Solution

α β

13. Amylopectin is water soluble/insoluble fraction.

Watch Video Solution

1. Which of the following proteins is globular?

https://dl.doubtnut.com/l/_FLJWr0XvjLGD
https://dl.doubtnut.com/l/_JVnKktyFG2Ac
https://dl.doubtnut.com/l/_eL0QOlMxQDSq
https://dl.doubtnut.com/l/_HICC9eK37TnZ


A. Collagen

B. Albumin

C. Myosin

D. Fibroin

Answer: B

Watch Video Solution

2. During conversion of glucose into glucose cyanohydrin which

functional group/ atom of glucose is replaced ?

A. hydrogen

B. aldehydic group

C. primary alcoholic group

D. secondary alcoholic group

Answer: B

https://dl.doubtnut.com/l/_HICC9eK37TnZ
https://dl.doubtnut.com/l/_JxNkCHLL3PAD


Watch Video Solution

3. Which one of the following enzymes digests protein in stomach?

A. Invertase

B. Trypsin

C. Tyrosinase

D. Ureas

Answer: B

Watch Video Solution

4. Biotin is chemical name of vitamin

A. 

B. E

C. H

B6

https://dl.doubtnut.com/l/_JxNkCHLL3PAD
https://dl.doubtnut.com/l/_6dEAo4DOU9xW
https://dl.doubtnut.com/l/_kO8jGHYR65aJ


D. K

Answer: C

Watch Video Solution

5. Metabolic activities of cells are controlled by

A. proteins

B. DNA

C. RNA

D. fat

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_kO8jGHYR65aJ
https://dl.doubtnut.com/l/_RN5mAHrhnUXJ


6. The linkage which holds various amino acdis units in primary structure

of proteins is

A. glycosidic linkage

B. hydrogen bond

C. peptide linkage

D. ionic bond

Answer: C

Watch Video Solution

7. Vitamin  is called:

A. Ascorbic acid

B. Retinol

C. Calciferol

D. Tocoferol

A

https://dl.doubtnut.com/l/_9cvYIM40i5xv
https://dl.doubtnut.com/l/_TjXhmRLG2IXf


Answer: B

Watch Video Solution

8. Deficiency of vitamin  causes the disease 

A. Beri-Beri

B. Rickets

C. Anaemia

D. Xerosis

Answer: A

Watch Video Solution

B1 :

9. Deficiency of vitamin C causes

A. Scurvy

https://dl.doubtnut.com/l/_TjXhmRLG2IXf
https://dl.doubtnut.com/l/_Z2S2Zsg8dy0n
https://dl.doubtnut.com/l/_hYSMuENP11Vg


B. Rickets

C. Anaemia

D. None of these

Answer: A

Watch Video Solution

10. Which of the following is an example of a non reducing sugar?

A. Sucrose

B. Lactose

C. Maltose

D. None

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_hYSMuENP11Vg
https://dl.doubtnut.com/l/_OowlwwCbzm3E
https://dl.doubtnut.com/l/_ocz74RpIno0r


11. Which of the following is not an essential amino acid?

A. Glycine

B. Lysine

C. Phenyl alanine

D. Valine

Answer: A

Watch Video Solution

12. Which of the following vitamins is water soluble

A. Vitamin 'E'

B. Vitamin 'K'

C. Vitamin 'B'

D. Vitamin 'A'

https://dl.doubtnut.com/l/_ocz74RpIno0r
https://dl.doubtnut.com/l/_dCr2urC0swui


Answer: C

Watch Video Solution

13. Vitamin  is:

A. Riboflavin

B. Cobalamin

C. Thiamine

D. Pyridoxine

Answer: C

Watch Video Solution

B1

14. निम्नलिखित में से कोण सा कित्रिम मधुरक हैं ?

A. Sucrose

https://dl.doubtnut.com/l/_dCr2urC0swui
https://dl.doubtnut.com/l/_PO9gsX2OpZ7a
https://dl.doubtnut.com/l/_XEbZlBDkGEF3


B. Glucose

C. Fructose

D. Maltose

Answer: C

Watch Video Solution

15. Rickets is caused by the deficiency of 

A. Vitamin D

B. Vitamin C

C. Vitamin A

D. Vitamin B

Answer: A

Watch Video Solution

−

https://dl.doubtnut.com/l/_XEbZlBDkGEF3
https://dl.doubtnut.com/l/_qGPB6Og4kFyJ
https://dl.doubtnut.com/l/_UlTfWI0b0JcJ


16. The function of enzymes in the living system is to

A. Maintain pH

B. Catalyse biochemical process

C. provide immunity

D. transport oxygen

Answer: B

Watch Video Solution

17. The disaccharide present in milk is :

A. sucrose

B. maltose

C. lactose

D. cellulose

https://dl.doubtnut.com/l/_UlTfWI0b0JcJ
https://dl.doubtnut.com/l/_Ryc5LCfsXmk0


Answer: C

Watch Video Solution

18. Which base is present in  but not in ?

A. Uracil

B. Cytosine

C. Guanine

D. Thymine

Answer: A

Watch Video Solution

RNA DNA

19. In aqueous solution amino acids moslty exit as

A. cation

https://dl.doubtnut.com/l/_Ryc5LCfsXmk0
https://dl.doubtnut.com/l/_7OABXP2VDp9I
https://dl.doubtnut.com/l/_oAMX2JrQ8t54


B. anion

C. dianion

D. zwitter ion

Answer: D

Watch Video Solution

20. Which of the following polymer is stored in the liver of animals ?

A. Amylose

B. Cellulose

C. Amylopectin

D. Glycogen

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_oAMX2JrQ8t54
https://dl.doubtnut.com/l/_DOzqnsJccSpb
https://dl.doubtnut.com/l/_1uePlSii72y5


21. Which of the following is a polysaccharide ?

A. Maltose

B. Sucrose

C. Fructose

D. Cellulose

Answer: D

Watch Video Solution

22. The Vitamin responsible for the coagulation of blood is :

A. Vitamin 

B. Vitamin 

C. Vitamin 

D. Vitamin 

B1

D

K

C

https://dl.doubtnut.com/l/_1uePlSii72y5
https://dl.doubtnut.com/l/_xSoxMvQ6lSSu


Answer: C

Watch Video Solution

23. Which one is the complimentary base of adenine in one strand to that

in the other strand of DNA?

A. Cytosine

B. Guanine

C. Uracil

D. Thymine

Answer: D

Watch Video Solution

24. Ribose is a

https://dl.doubtnut.com/l/_xSoxMvQ6lSSu
https://dl.doubtnut.com/l/_4uCMzynt7lly
https://dl.doubtnut.com/l/_AG00OS5GAfPL


A. monosaccharide

B. polysaccharide

C. polypeptide

D. disaccharide

Answer: A

Watch Video Solution

25. In which of the following order base, phosphate and sugar are

arranged in the nucleotide of DNA?

A. Base-phosphate-sugar

B. Base-sugar-phosphate

C. Phosphate-base-sugar

D. Sugar-base-phosphate

Answer: B

https://dl.doubtnut.com/l/_AG00OS5GAfPL
https://dl.doubtnut.com/l/_DTkpHvUw0iU9


Watch Video Solution

26. Glycogen is an example of:

A. Polysaccharide

B. Disaccharide

C. Monosaccharide

D. Protein

Answer: A

Watch Video Solution

27. Which of the following amino acids is not optically active

A. Alanine

B. Glycine

C. Valine

https://dl.doubtnut.com/l/_DTkpHvUw0iU9
https://dl.doubtnut.com/l/_dP6xfHD83S1b
https://dl.doubtnut.com/l/_qObGvxHVnG92


D. Leucine

Answer: B

Watch Video Solution

28. Which of the following acids is a vitamin?

A. Aspartic acid

B. Adipic acid

C. Ascorbic acid

D. Saccharic acid

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_qObGvxHVnG92
https://dl.doubtnut.com/l/_kFbqNkAbBqfH


29. The reason for the double helical structure of DNA is due to the

presence of

A. van der Waals' forces

B. dipole-dipole interactions

C. hydrogen bonding

D. London forces

Answer: C

Watch Video Solution

30. Which of the following is not present in RNA?

A. Uracil

B. Thymine

C. Ribose

D. Phosphate

https://dl.doubtnut.com/l/_uf1S3YVuzDEU
https://dl.doubtnut.com/l/_CifmQhoFx3LD


Revision Exercises Objective Questions Multiple Choice Questions Passage

Based Questions

Answer: B

Watch Video Solution

1. Carbohydrates play a vital role in our daily life. These are classified as

monosacchrides, oligosaccharides and polysaccharides depending upon

the number of smaller molecules on hydrolysis. It has been suggested

that monosaccharides do not have a free aldehyde or ketonic group but

have cyclic hemiacetal or hemiketal structures. D - Glucose exists in two

isomeric stereoisomeric forms :  glucose and  glucose

which have different positions of H and OH groups on first carbon atom.

Disaccharides such as sucuose, maltose, lactose, etc., give

monosaccharides on hydrolysis. Polysaccharides are starch, cellulose,

glycogen, having molecular formula . 


What is the name of the linkage which holds together monosaccharide

units in sucrose?

α − D − β − D

(C6H10O5)n

https://dl.doubtnut.com/l/_CifmQhoFx3LD
https://dl.doubtnut.com/l/_KHQDrTkT4IOT


Watch Video Solution

2. Assertion: Glucose does not gives 2,4-DNP test. 

Reason: Glucose exists in cyclic hemiacetal form

Watch Video Solution

3. Carbohydrates play a vital role in our daily life. These are classified as

monosacchrides, oligosaccharides and polysaccharides depending upon

the number of smaller molecules on hydrolysis. It has been suggested

that monosaccharides do not have a free aldehyde or ketonic group but

have cyclic hemiacetal or hemiketal structures. D - Glucose exists in two

isomeric stereoisomeric forms :  glucose and  glucose

which have different positions of H and OH groups on first carbon atom.

Disaccharides such as sucuose, maltose, lactose, etc., give

monosaccharides on hydrolysis. Polysaccharides are starch, cellulose,

glycogen, having molecular formula . 


Name the water insoluble component of starch.

α − D − β − D

(C6H10O5)n

https://dl.doubtnut.com/l/_KHQDrTkT4IOT
https://dl.doubtnut.com/l/_33qz4YZs4PDo
https://dl.doubtnut.com/l/_IFKwEkbPUf5B


Watch Video Solution

4. which of the following disaccharides will give two molecules of glucose

on hydrolysis ?

Watch Video Solution

5. When glucose is heated with methanol in the presence of dry HCl gas,

it forms one methyl glycoside.

Watch Video Solution

6. Nucleic acids are the biopolymers in which the repeating structural

monomeric units is a nucleotide. The nucleotides structural monomeric

unit is a nucleotide. The nucleotides consist of three components, a

pentose sugar

, (purines i.e., adenine and guanine and pyrididines i.e., thymine, cytosine

(D − (0) −  ribose or 2 - deoxy − D − ( − ) − ribose, heterocyclic base)

https://dl.doubtnut.com/l/_IFKwEkbPUf5B
https://dl.doubtnut.com/l/_8AUnGHfOKYux
https://dl.doubtnut.com/l/_aJXF65yMWadH
https://dl.doubtnut.com/l/_mNedk0I0bqmH


and uracil) and phosphoric acid. Sugar - base constitutes nucleosides. the

two types of nucleic acids are DNA and RNA. Nucleic acids play significant

role in replication and protein synthesis. 

Name the base which is present in RNA but not in DNA.

Watch Video Solution

7. Nucleic acids are the biopolymers in which the repeating structural

monomeric units is a nucleotide. The nucleotides structural monomeric

unit is a nucleotide. The nucleotides consist of three components, a

pentose sugar

, (purines i.e., adenine and guanine and pyrididines i.e., thymine, cytosine

and uracil) and phosphoric acid. Sugar - base constitutes nucleosides. the

two types of nucleic acids are DNA and RNA. Nucleic acids play significant

role in replication and protein synthesis. 

What type of linkage hold together monomers of DNA?

Watch Video Solution

(D − (0) −  ribose or 2 - deoxy − D − ( − ) − ribose, heterocyclic base)

https://dl.doubtnut.com/l/_mNedk0I0bqmH
https://dl.doubtnut.com/l/_Kbf2zqomaBjh


8. Nucleic acids are the biopolymers in which the repeating structural

monomeric units is a nucleotide. The nucleotides structural monomeric

unit is a nucleotide. The nucleotides consist of three components, a

pentose sugar

, (purines i.e., adenine and guanine and pyridines i.e., thymine, cytosine

and uracil) and phosphoric acid. Sugar - base constitutes nucleosides. the

two types of nucleic acids are DNA and RNA. Nucleic acids play significant

role in replication and protein synthesis. 

How are nucleic acids, nucleosides and nucleotides related?

Watch Video Solution

(D − (0) −  ribose or 2 - deoxy − D − ( − ) − ribose, heterocyclic base)

9. Nucleic acids are the biopolymers in which the repeating structural

monomeric units is a nucleotide. The nucleotides structural monomeric

unit is a nucleotide. The nucleotides consist of three components, a

pentose sugar

(D − (0) −  ribose or 2 - deoxy − D − ( − ) − ribose, heterocyclic base)

https://dl.doubtnut.com/l/_WmLpZuqJRx7A
https://dl.doubtnut.com/l/_OpZ48mDJXWn1


, (purines i.e., adenine and guanine and pyridines i.e., thymine, cytosine

and uracil) and phosphoric acid. Sugar - base constitutes nucleosides. the

two types of nucleic acids are DNA and RNA. Nucleic acids play significant

role in replication and protein synthesis. 

If one of the strands of DNA has the following sequence of bases in the 5'

- 3' direction. 

 


Which base is closest to the 5' - end in the complementary strand?

Watch Video Solution

5' − A − G − T − C − A − A − G − 3'

10. Nucleic acids are the biopolymers in which the repeating structural

monomeric units is a nucleotide. The nucleotides structural monomeric

unit is a nucleotide. The nucleotides consist of three components, a

pentose sugar

, (purines i.e., adenine and guanine and pyrididines i.e., thymine, cytosine

and uracil) and phosphoric acid. Sugar - base constitutes nucleosides. the

two types of nucleic acids are DNA and RNA. Nucleic acids play significant

(D − (0) −  ribose or 2 - deoxy − D − ( − ) − ribose, heterocyclic base)

https://dl.doubtnut.com/l/_OpZ48mDJXWn1
https://dl.doubtnut.com/l/_QfI2jw3sW4T3


Revision Exercises Objective Questions Multiple Choice Questions Assertion

Reason Questions

role in replication and protein synthesis. 

Adenine and thymin are joined by stronger hydrogen bonds than guanine

and cytosin. Is it true or false?

Watch Video Solution

1. Assertion : Glycosides are hydrolysed in acidic conditions. 

Reason : Glycosides are acetals

A. Assertion and reason both are correct statements and reason is

correct explanation for assertion.

B. Assertion and reason both are correct statements but reason is not

correct explanation for assertion.

C. Assertion is correct statement but reason is wrong statement.

D. Assertion is wrong statement but reason is correct statement.

https://dl.doubtnut.com/l/_QfI2jw3sW4T3
https://dl.doubtnut.com/l/_9If91mD9H0xT


Answer: A

Watch Video Solution

2. Assertion  A solution of sucrose in water is dextrorotatory. But on

hydrolysis in the presence of a little hydrochloric acid, it becomes

laevaorotatory. 

Reason  Sucrose on hydrolysis gives unequal amounts of glucose and

fructose. As a result of this, change in sign of rotation is observed.

A. Assertion and reason both are correct statements and reason is

correct explanation for assertion.

B. Assertion and reason both are correct statements but reason is not

correct explanation for assertion.

C. Assertion is correct statement but reason is wrong statement.

D. Assertion is wrong statement but reason is correct statement.

Answer: C

:

:

https://dl.doubtnut.com/l/_9If91mD9H0xT
https://dl.doubtnut.com/l/_9puTreNTqXY7


Watch Video Solution

3. Assertion: Fats and oils are one of the main sources of food for all

living organisms. 

Reason : Lipids act as energy reserves.

A. Assertion and reason both are correct statements and reason is

correct explanation for assertion.

B. Assertion and reason both are correct statements but reason is not

correct explanation for assertion.

C. Assertion is correct statement but reason is wrong statement.

D. Assertion is wrong statement but reason is correct statement.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_9puTreNTqXY7
https://dl.doubtnut.com/l/_cANuFnkOmqpL


4. Assertion: The newly formed RNA dictates the synthesis of protein at

the ribosome. 

Reason : DNA has a double helical structure while RNA has single

stranded structure.

A. Assertion and reason both are correct statements and reason is

correct explanation for assertion.

B. Assertion and reason both are correct statements but reason is not

correct explanation for assertion.

C. Assertion is correct statement but reason is wrong statement.

D. Assertion is wrong statement but reason is correct statement.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_afoRaluzU61l


5. Assertion: Uracil is present in DNA. 

Reason : DNA undergoes replication.

A. Assertion and reason both are correct statements and reason is

correct explanation for assertion.

B. Assertion and reason both are correct statements but reason is not

correct explanation for assertion.

C. Assertion is correct statement but reason is wrong statement.

D. Assertion is wrong statement but reason is correct statement.

Answer: D

Watch Video Solution

6. Statement I: Cellulose is not diagested by human beings. 

Statement II: Cellulose is a polymer of `beta-D-flucose.

https://dl.doubtnut.com/l/_pVbhmM9c9uVc
https://dl.doubtnut.com/l/_sH7Ghtxu1hl1


A. Assertion and reason both are correct statements and reason is

correct explanation for assertion.

B. Assertion and reason both are correct statements but reason is not

correct explanation for assertion.

C. Assertion is correct statement but reason is wrong statement.

D. Assertion is wrong statement but reason is correct statement.

Answer: B

Watch Video Solution

7. Assertion: Vitamin A and D are not absorbed in the body unless fat

digestion and absorption proceed normally. 

Reason : Vitamin A and D are fat soluble vitamins.

A. Assertion and reason both are correct statements and reason is

correct explanation for assertion.

https://dl.doubtnut.com/l/_sH7Ghtxu1hl1
https://dl.doubtnut.com/l/_lxrQzTL3gTks


B. Assertion and reason both are correct statements but reason is not

correct explanation for assertion.

C. Assertion is correct statement but reason is wrong statement.

D. Assertion is wrong statement but reason is correct statement.

Answer: A

Watch Video Solution

8. Assertion: Except glycine, all naturally occurring -amino acids are

optically active. 

Reason : All -amino acids occurring naturally except glycine has at least

one asymmetric carbon.

A. Assertion and reason both are correct statements and reason is

correct explanation for assertion.

B. Assertion and reason both are correct statements but reason is not

correct explanation for assertion.

α

α

https://dl.doubtnut.com/l/_lxrQzTL3gTks
https://dl.doubtnut.com/l/_dtOuG5e3jBkh


C. Assertion is correct statement but reason is wrong statement.

D. Assertion is wrong statement but reason is correct statement.

Answer: A

Watch Video Solution

9. Assertion :- Insulin is water soluble hormone. 

Reason:- Insulin is an example of globular protein.

A. Assertion and reason both are correct statements and reason is

correct explanation for assertion.

B. Assertion and reason both are correct statements but reason is not

correct explanation for assertion.

C. Assertion is correct statement but reason is wrong statement.

D. Assertion is wrong statement but reason is correct statement.

Answer: A

https://dl.doubtnut.com/l/_dtOuG5e3jBkh
https://dl.doubtnut.com/l/_Gko9t20Fgt2J


Watch Video Solution

10. Assertion : Fructose does not contain an aldehydic group but still

reduces Tollen's regant. 

Reason : In the presence of base, fructose undergoes rearrangement to

give glucose.

A. Assertion and reason both are correct statements and reason is

correct explanation for assertion.

B. Assertion and reason both are correct statements but reason is not

correct explanation for assertion.

C. Assertion is correct statement but reason is wrong statement.

D. Assertion is wrong statement but reason is correct statement.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Gko9t20Fgt2J
https://dl.doubtnut.com/l/_YvApgeSQRzMJ


Revision Exercises Objective Questions Very Short Answer Questions

1. What is mutarotation?

Watch Video Solution

2. What is the basic difference between proteins and polypeptides?

Watch Video Solution

3. What type of bonding helps in stabilising the -helix structure of

proteins ?

Watch Video Solution

α

4. Name the enzyme which is used to cure the heart disease.

Watch Video Solution

https://dl.doubtnut.com/l/_S4jC2zpi5Nz0
https://dl.doubtnut.com/l/_dC2PJ2mIc65u
https://dl.doubtnut.com/l/_jd5Nu8bzfnOq
https://dl.doubtnut.com/l/_Z6seMDbXNylX


5. The enzyme defective in albinism is

Watch Video Solution

6. Name on fibrous and one globular protein.

Watch Video Solution

7. Write a disease caused due to deficiency of vitamin C and name one

source of vitamin C.

Watch Video Solution

8. What do you understand by the term glycosidic linkage?

Watch Video Solution

https://dl.doubtnut.com/l/_Z6seMDbXNylX
https://dl.doubtnut.com/l/_IkCaXEZVGMqz
https://dl.doubtnut.com/l/_qTABE5OnzoYA
https://dl.doubtnut.com/l/_A9Zzj9ysgcOa
https://dl.doubtnut.com/l/_A9zjpYRZPPSw
https://dl.doubtnut.com/l/_g1BtEXW1Uvor


9. Peptide linkage.

Watch Video Solution

10. Why is cellulose not used as a nutrient in the human gut ?

Watch Video Solution

11. What type of sugar molecule is present in DNA ?

Watch Video Solution

12. The sugar component in RNA molecule is :

Watch Video Solution

13. Write the chemical name of vitamin .

W t h Vid S l ti

B12

https://dl.doubtnut.com/l/_g1BtEXW1Uvor
https://dl.doubtnut.com/l/_NRj1yNyYitss
https://dl.doubtnut.com/l/_UFt33caIoZSq
https://dl.doubtnut.com/l/_bIbyYEjsM4vv
https://dl.doubtnut.com/l/_JZWsehlFCKO8


Watch Video Solution

14. Which vitamin deficiency causes pernicious anaemia?

Watch Video Solution

15. What is the chemical name of vitamin  and which disease is caused

by its deficiency?

Watch Video Solution

B1

16. What is the chemical name of vitamin A and which disease is caused by

its deficiency?

Watch Video Solution

17. What is the basic structural difference between starch and cellulose?

Watch Video Solution

https://dl.doubtnut.com/l/_JZWsehlFCKO8
https://dl.doubtnut.com/l/_enleOAmrq4QB
https://dl.doubtnut.com/l/_nM6DRCgBoadB
https://dl.doubtnut.com/l/_AkZQAh5uekmQ
https://dl.doubtnut.com/l/_c325PVsjzrl6


18. the enzyme that converts glucose into alcohol is

Watch Video Solution

19. Enzyme which hydrolyses starch to maltose is

Watch Video Solution

20. What is the difference between a nucleoside and nucleotide ?

Watch Video Solution

21. Which of the components of starch is water soluble ?

Watch Video Solution

https://dl.doubtnut.com/l/_c325PVsjzrl6
https://dl.doubtnut.com/l/_sK5ieyljXlpZ
https://dl.doubtnut.com/l/_uiyfDqkhXsAW
https://dl.doubtnut.com/l/_nICG23JDR8Oi
https://dl.doubtnut.com/l/_qVCc6nsef4oe


22. Which component of starch is a branched polymer of glucose and

insoluble in water ?

Watch Video Solution

α −

23. Nitrogenous bases present in DNA

Watch Video Solution

24. Which amino acid is optically inactive?

Watch Video Solution

25. Deficiency of which of the vitamin in causes rickets?

Watch Video Solution

https://dl.doubtnut.com/l/_6OyJTnR5j5u4
https://dl.doubtnut.com/l/_1n2nUWhXL7Bn
https://dl.doubtnut.com/l/_GXtFucfZnJWz
https://dl.doubtnut.com/l/_ZWXrFPniLPmq


26. Name the disease caused by deficiency of vitamin-K.

Watch Video Solution

27. Reducing sugar

Watch Video Solution

28. Write the structure of the product obtained when glucose is oxidised

with nitric acid .1

Watch Video Solution

29. How do you explain the presence of all the six carbon atoms in

glucose in a straight chain?

Watch Video Solution

https://dl.doubtnut.com/l/_mo9xItl3CEYW
https://dl.doubtnut.com/l/_Z2IMnT6HZzij
https://dl.doubtnut.com/l/_2XnKShOgnC8W
https://dl.doubtnut.com/l/_v5D1L7phX5T1
https://dl.doubtnut.com/l/_NZicGX9RnD6f


Revision Exercises Objective Questions Short Answer Questions

30. Write the name of linkage joining two amino acids.

Watch Video Solution

31. What are the products of hydrolysis of lactose?

Watch Video Solution

32. What are the hydrolysis products of sucrose ?

Watch Video Solution

33. What are the products of hydrolysis of maltose?

Watch Video Solution

https://dl.doubtnut.com/l/_NZicGX9RnD6f
https://dl.doubtnut.com/l/_2cHe3DgnHBHq
https://dl.doubtnut.com/l/_aqOhxJhBilf1
https://dl.doubtnut.com/l/_bNZ6wPCLy78Y
https://dl.doubtnut.com/l/_34C0bAFTjmhd


1. What are monosaccharides? Draw open chain structure of aldopentose

and aldohexose. How many asymmetric carbons are present in each?

Watch Video Solution

2. What are reducing and non-reducing sugars ? What is the structural

feature characterising reducing sugars ? What is an invert sugar ?

Watch Video Solution

3. Distinguish between 

(i) a globular protein and fibrous protein 

(ii) -glucose and -glucose 


(iii) primary and secondary structure of protein. 

(iv) DNA and RNA 

(v) Nucleoside and nucleotide

Watch Video Solution

α β

https://dl.doubtnut.com/l/_34C0bAFTjmhd
https://dl.doubtnut.com/l/_zT1nm9wziAPE
https://dl.doubtnut.com/l/_qiXeOJBvm4xT


4. What type of forces are responsible for the formation of 

(a) Cross linking of polypeptide chains 

(b) -helix formation 

(c) -sheet structure.

Watch Video Solution

α

β

5. What are enzymes? How do enzymes differ from ordinary chemical

catalysts? Comment on the specificity of enzyme action. What is the most

important reason for their specificity?

Watch Video Solution

6. Name two components of starch. How do they differ from each other

structurally?

Watch Video Solution

https://dl.doubtnut.com/l/_bIXiNRdVa5BB
https://dl.doubtnut.com/l/_aUQ5RGbW6sWx
https://dl.doubtnut.com/l/_lssaXpEXymGV
https://dl.doubtnut.com/l/_ZvC55OFyVvfF


7. (a) What are essential amino acids? 

(b) A carbohydrate  is boiled with dil.  in alcoholic

solution to form two hexoses with the same chemical formula. Identify

the carbohydrate and the two hexoses. Give necessary chemical

equations. 

(c) What is denaturation of protein?

Watch Video Solution

(C12H22O11) H2SO4

8. (a) What are vitamins? Name any two vitamins. 

(b) Why vitamin A and C are essential to us? Name one important source

of each.

Watch Video Solution

9. (a) List the important structural and functional differences between

DNA and RNA. 

(b) Draw the structure of -D-ribose and -D-2-deoxyribose.β β

https://dl.doubtnut.com/l/_ZvC55OFyVvfF
https://dl.doubtnut.com/l/_TWa1kraIRxiB
https://dl.doubtnut.com/l/_Azx7Q8XCrT94


Watch Video Solution

10. (a) What are essential and non-essential amino acids ? 

(b) Give chemical name of vitamin-A. 

(c) Name the enzyme which converts glucose into ethanol.

Watch Video Solution

11. (a) What is essentially the difference between -form of glucose and -

form of glucose? What is meant by pyranose structure of glucose? 

(b) Describe what you understand by primary and secondary structure of

proteins.

Watch Video Solution

α β

12. (a) What is meant by (i) a peptide linkage (ii) a glycosidic linkage? 

(b) Name the bases present in RNA. Which one of these is not present in

DNA?

https://dl.doubtnut.com/l/_Azx7Q8XCrT94
https://dl.doubtnut.com/l/_HW6XMJuaGDZg
https://dl.doubtnut.com/l/_P10Hjw38LPby
https://dl.doubtnut.com/l/_WFdid1mWonmN


Watch Video Solution

13. (a) Write two differences between starch and cellulose. 

(b) Write one function and two sources of vitamin D.

Watch Video Solution

14. (a) Name the metal present in Vitamin- . 


(b) What is Zwitter ion? 

(c) Name the metal present in green leaves.

Watch Video Solution

B12

15. Define the following terms: 

(a) Anomers 

(b) Peptide bond 

(c) Reducing sugar.

W t h Vid S l ti

https://dl.doubtnut.com/l/_WFdid1mWonmN
https://dl.doubtnut.com/l/_8FVFQu2GBpPI
https://dl.doubtnut.com/l/_BkHrlVTgyv4C
https://dl.doubtnut.com/l/_nyRzuorgVtnI


Watch Video Solution

16. (a) What is denaturation of proteins? 

(b) What type of bonds hold a DNA double helix together? 

(c) Which enzyme is present in saliva? What is its function?

Watch Video Solution

17. (a) What is meant by 

(i) peptide linkage (ii) biocatalysts? 

(b) Write any two reactions of glucose which cannot be explained by the

open chain structure of glucose molecule.

Watch Video Solution

18. (a) What are globular and fibrous proteins? Give examples. 

(b) What is glycosidic linkage? Name the disease caused by the deficiency

of vitamin D. Give one function of vitamin D.

https://dl.doubtnut.com/l/_nyRzuorgVtnI
https://dl.doubtnut.com/l/_RdMvgRs7Pi2V
https://dl.doubtnut.com/l/_1Sp1EHs4dR3M
https://dl.doubtnut.com/l/_YGp2R2BcgwZ8


Watch Video Solution

19. (a) Write Haworth structure, of ''Lactose''. 

(b) (i) What are non-essential amino acids? 

(ii) Write Zwitter ion structure of ''glycine''. 

(c) Name the nitrogenous base present in RNA but not in DNA.

Watch Video Solution

20. (a) Name one fibrous protein and one globular protein. 

(b) What are the products obtained on hydrolysis of sucrose? 

(c) What is the structural feature characterising reducing sugars?

Watch Video Solution

21. (a) Give one example each of disaccharide and a polysaccharide. 

(b) What are three types of RNA molecules which perform different

functions?

https://dl.doubtnut.com/l/_YGp2R2BcgwZ8
https://dl.doubtnut.com/l/_aMjAvxiaijY9
https://dl.doubtnut.com/l/_3thSOxXGa3Xo
https://dl.doubtnut.com/l/_e3MVLnKhVAjl


Watch Video Solution

22. (a) (i) Name the water insoluble component of starch. 

(ii) Mention one water soluble vitamin. 

(iii) Is Lysine an essential or non-essential amino acid? 

(b) Write the structure of maltose.

Watch Video Solution

23. (a) Write the Haworth structure of maltose. 

(b) What is peptide linkages? How many peptide bonds are present in a

tetrapeptide? 

(c) Name the hormone which regulates blood sugar level in the body.

Watch Video Solution

24. (i)Deficiency of which vitamin causes rickets ? 

(ii) Given an example for each of fibrous protein and globular protein. (iii)

https://dl.doubtnut.com/l/_e3MVLnKhVAjl
https://dl.doubtnut.com/l/_7j4LOpaKrf4q
https://dl.doubtnut.com/l/_G7v9Pj0ccMHO
https://dl.doubtnut.com/l/_JwWAipQVBZZJ


Write the product formed on reaction of D-glucose with  water.

Watch Video Solution

Br2

25. Distinguish between the primary, secondary and tertiary structure of

protein.

Watch Video Solution

26. (a) What is glycosidic linkage? 

(b) What are nucleic acids? Mention their two important biological

functions.

Watch Video Solution

27. Write the full form of DNA and RNA. Name the specific nitrogenous

bases present in DNA and RNA.

Watch Video Solution

https://dl.doubtnut.com/l/_JwWAipQVBZZJ
https://dl.doubtnut.com/l/_0uHZB7d2dvlN
https://dl.doubtnut.com/l/_aemVLRC1F5FW
https://dl.doubtnut.com/l/_lutvPs8o8OfY


28. Give the reaction of glucose with Tollen's reagent and Fehling's

solution.

Watch Video Solution

29. (i) What are nucleosides and nucleotides? 

(ii) Name one water soluble vitamin. 

Watch Video Solution

30. (a) What are zwitter ions? 

(b) What is denaturation of proteins? 

(c) What is meant by inversion of sugar? 

(d) What is mutarotation?

Watch Video Solution

https://dl.doubtnut.com/l/_lutvPs8o8OfY
https://dl.doubtnut.com/l/_BVGmNGggs3ma
https://dl.doubtnut.com/l/_1KGaV1Zr2a04
https://dl.doubtnut.com/l/_y7uzDpi2lUVL
https://dl.doubtnut.com/l/_qV0CxY8Atdzp


31. What happens when glucose reacts with the following : 

(a) , heat 


(b)  


(c) Br, water

Watch Video Solution

HI

NH2OH

32. (i) Which one of the following is a disaccharide : Starch, Maltose,

Fructose, Glucose ? 

(ii) What is the difference between fibrous proteins and globular proteins

? 

(iii) Write the name of vitamin whose deficiency causes bone deformities

in children.

Watch Video Solution

33. (a) What are essential amino acids ? 

(b) Give chemical name of vitamin-A.

https://dl.doubtnut.com/l/_qV0CxY8Atdzp
https://dl.doubtnut.com/l/_9bMlFQAagcRK
https://dl.doubtnut.com/l/_yqKQhbUbNper


Watch Video Solution

34. What is meant by denaturation of protein? Differentiate between

fibrous proteins and globular proteins.

Watch Video Solution

35. Name the three major classes of carbohydrates and give the

distinctive characteristic of each class.

Watch Video Solution

36. Define the following as related to proteins : 

(i) Peptide linkage 

(ii) Primary structure 

(iii) Denaturation

Watch Video Solution

https://dl.doubtnut.com/l/_yqKQhbUbNper
https://dl.doubtnut.com/l/_leNwYW9PsqY2
https://dl.doubtnut.com/l/_Iis5yS98d3D8
https://dl.doubtnut.com/l/_WjBkDogYMKE4


37. (a) What is polysaccharide? Explain with an example. 

(b) What is meant by primary structure of proteins?

Watch Video Solution

38. (a) Name the vitamins whose deficiency is responsible for 

(i) night blindness, 

(ii) poor coagulation of blood. 

(b) What are essential and non-essential amino acids ? Give one example

of each type.

Watch Video Solution

39. (c) What is the difference between amylose and amylopectin? 

(d) What is a glycosidic linkage? 

(e) Name the base that is found in RNA only.

Watch Video Solution

https://dl.doubtnut.com/l/_bRlZtzFW0osl
https://dl.doubtnut.com/l/_OQyXMO0RyJPB
https://dl.doubtnut.com/l/_vqc4poTem3zG


40. Distinguish between the following: 

(i) A globular protein and a fibrous protein. 

(ii) Primary and secondary structure of proteins.

Watch Video Solution

41. (a) (i) What is Zwitter ion? 

(ii) Name a source of vitamin E. 

(iii) Name the disease caused due to deficiency of vitamin K in our body.

Watch Video Solution

42. (i) Write the name of two monosaccharides obtained on hydrolysis of

lactose sugar. 

(iii) Why Vitamin C cannot be stored in our body? 

(iii) What is the difference between a nucleoside and nucleotide?

Watch Video Solution

https://dl.doubtnut.com/l/_GU2f8UfpqXHC
https://dl.doubtnut.com/l/_AtffKVF8cmHn
https://dl.doubtnut.com/l/_ib2Wzx9xUcmL


43. (a) Explain the terms: 

(i) Zwitter ion 

(ii) Oligosaccharides

Watch Video Solution

44. (b) What are the different types of RNA found in the cells of an

organism? State the functions of each type.

Watch Video Solution

45. What is denaturation of proteins? Mention four different types of

forces that stabilize protein structure.

Watch Video Solution

https://dl.doubtnut.com/l/_k0670Nk5gkVz
https://dl.doubtnut.com/l/_iccIdKbo6KUA
https://dl.doubtnut.com/l/_6bwnI2REXyGu


46. Define the terms: 

(i) Biomolecules 

(ii) Carbohydrates 

(iii) Reducing Sugars.

Watch Video Solution

47. (a) Fresh tomatoes are a better source of vitamin C than those which

have been stored for some time. Why? 

(b) Represent sucrose and  maltose in the form of Haworth

structures.

Watch Video Solution

α − D −

48. (a) What are zwitter ions? Give examples. 

(b) Give chemical name of vitamin-C.

Watch Video Solution

https://dl.doubtnut.com/l/_Qbn1sbjI8TAx
https://dl.doubtnut.com/l/_33NGDL3WWxR5
https://dl.doubtnut.com/l/_EYYIeZJb5jje


49. (a) What are reducing sugars? 

(b) What is the effect of denaturation on the structure of proteins? 

(c) Why cannot vitamin C be stored in our body?

Watch Video Solution

50. Differentiate between the following: 

(i) Amylose and Amylopectin. 

(ii) Peptide linkage and Glycosidic linkage 

(iii) Fibrous proteins and Globular proteins.

Watch Video Solution

51. Write chemical reaction to show that open structure of D-glucose

contains the following: 

(i) Straight chain 

(ii) Five alcohol groups 

(iii) Alsehyde as carbonyl group

https://dl.doubtnut.com/l/_rkkPSsoysBNI
https://dl.doubtnut.com/l/_ImvNirZLIcZ3
https://dl.doubtnut.com/l/_looyFrl21rBk


Watch Video Solution

52. Define the following with a suitable example in each : 

(i) Oligosaccharides 

(ii) Denaturation of protein 

(iii) Vitamins

Watch Video Solution

53. Write the reactions involved when D-glucose is treated with the

following reagents: 

(i)  water 


(ii)  


(iii) 

Watch Video Solution

Br2

H2N − OH

(CH3CO)2O

https://dl.doubtnut.com/l/_looyFrl21rBk
https://dl.doubtnut.com/l/_InGfvAKvkuWf
https://dl.doubtnut.com/l/_PzTYvShYf0dY


54. How are vitamins classified? Mention the chief sources of vitamins A

and C.

Watch Video Solution

55. (a) Name two water soluble vitamins, their sources and the diseases

caused by their deficiency in diet. 

(b) Name the four bases present in DNA. Which one of these is not

present in RNA?

Watch Video Solution

56. Name two fat soluble vitamins, their sources and the diseases caused

due to their deficiency.

Watch Video Solution

https://dl.doubtnut.com/l/_8hlJLixhu0tq
https://dl.doubtnut.com/l/_Qa3lsGEQmvQw
https://dl.doubtnut.com/l/_GNv5QdU2wFA1


57. Name the four bases present in DNA. Which one of these is not

present in RNA ?

Watch Video Solution

58. (a) What is meant by 

(i) peptide linkage 

(ii) pyranose structure of glucose. 

(b) Write the main structural differences between DNA and RNA. Of the

four bases present, name those which are common to both DNA and RNA.

Watch Video Solution

59. What is essentially the difference between -glucose and -glucose ?

What is meant by pyranose structure of glucose ?

Watch Video Solution

α β

https://dl.doubtnut.com/l/_nPPvbGo4hVKe
https://dl.doubtnut.com/l/_hAbFOouKMqAk
https://dl.doubtnut.com/l/_7F6bq9Dz99bR
https://dl.doubtnut.com/l/_3Co5YEjJh1zc


60. Define the following as related to proteins : 

(i) Peptide linkage 

(ii) Primary structure 

(iii) Denaturation

Watch Video Solution

61. Define the following terms: 

(i) Glycosidic linkage 

(ii) Invert sugar 

(iii) Oligosaccharides

Watch Video Solution

62. (i) Which one of the following is a polysaccharide : Starch, Maltose,

Fructose, Glucose ? 

(ii) What is the difference between native protein and denatured protein

? 

https://dl.doubtnut.com/l/_3Co5YEjJh1zc
https://dl.doubtnut.com/l/_qsIxR1XUdUKr
https://dl.doubtnut.com/l/_bQadA8hOOM2x


(iii) Write the name of the vitamin responsible for the coagulation of

blood.

Watch Video Solution

63. (i) Write one reaction of D-Glucose which cannot be explained by its

open chain structure. 

(ii) What type of linkage is present in Nucleic acids ? 

(iii) Give one example each for water-soluble vitamins and fat-soluble

vitamins ?

Watch Video Solution

64. (a) Write the product when D-glucose reacts with conc. . 


(b) Amino acids shown amphoteric behaviour. Why ? 

(c ) Write one difference between -helix and -pleated structures of

proteins.

Watch Video Solution

HNO3

α β

https://dl.doubtnut.com/l/_bQadA8hOOM2x
https://dl.doubtnut.com/l/_iJxQdm51vRk9
https://dl.doubtnut.com/l/_SiHoVL3UK4Yn


65. Define the following with an example of each : 

(a) Polysaccharides 

(b) Denatured protein 

(c ) Essential amino acids

Watch Video Solution

66. Define the following terms with a suitable example of each: 

(a) Anomers 

(b) Essential amino acids 

(c) Denaturation of protein.

Watch Video Solution

67. Differentiate between the following : 

(a) Fibrous protein and globular protein 

https://dl.doubtnut.com/l/_SiHoVL3UK4Yn
https://dl.doubtnut.com/l/_Yuz5LiJlThX5
https://dl.doubtnut.com/l/_88qc0dZ4vlku
https://dl.doubtnut.com/l/_S5QtJtseI2u3


(b) Essential amino acids and non-essential amino acids. 

(c) Amylose and amylopectin.

Watch Video Solution

68. Define the following terms with a suitable example of each: 

(a) Tertiary structure of protein 

(b) Essential amino acids 

(c) Disaccharides

Watch Video Solution

69. Explain what is meant by (i) a peptide linkage, (ii) a glycosidic linkage.

Watch Video Solution

70. What is the difference between a nucleotide and nucleoside ? Give

two examples of each with their structure.

https://dl.doubtnut.com/l/_S5QtJtseI2u3
https://dl.doubtnut.com/l/_nlPnlQRvSRI1
https://dl.doubtnut.com/l/_xIkULV1W9VL5
https://dl.doubtnut.com/l/_cFCvDUthlLaC


Revision Exercises Objective Questions Longanswer Questions

Watch Video Solution

1. (a) Write reactions to show how glucose separately reacts with 

(i)  


(ii)  


(iii) ammoniacal  


(b) What do you understand by 

(i) denaturation and 

(ii) renaturation of proteins? 

(c) Name the deficiency diseases resulting from lack of vitamins A and E in

the diet.

Watch Video Solution

NH2OH

HNO3

AgNO3

2. (a) Name the three major classes of carbohydrates and give an example

of each of these classes. 

https://dl.doubtnut.com/l/_cFCvDUthlLaC
https://dl.doubtnut.com/l/_bHZMaZBd5DOH
https://dl.doubtnut.com/l/_bsb3pGYRQZs0


(b) Ans the following : 

(i) What type of linkage is responsible for the primary structure of

proteins ? 

(ii) Name the location where position synthesis occurs in our body. 

OR 

(a) How are lipids classified ? Given an example of each class. 

(b) Explain the following terms : 

(i) Mutarotation 

(ii) Avitaminosis.

Watch Video Solution

3. Answer the following questions : 

(i) Name any two good sources of vitamin A. 

(ii) What are nucleotides ? 

(iii) Given one example of fat soluble vitamins. 

(iv) How are carbohydrates classified ?

Watch Video Solution

https://dl.doubtnut.com/l/_bsb3pGYRQZs0
https://dl.doubtnut.com/l/_3oK22IlvNqJi


Higher Order Thinking Skills Advanced Level Questions With Answers

1. Glucose, Mannose and fructose give identical osazones. Explain

Watch Video Solution

2. What forces are responsible for the stability of -helix. Why is it also

known as  helix?

Watch Video Solution

α

3.613

3. Write the structure of alanine at pH = 2 and pH = 10.

Watch Video Solution

4. Glucose shows mutarotation when it dissolves in water. The specific

rotation of -D glucose and -D- glucose is  and α β +112.2∘ +18.7∘

https://dl.doubtnut.com/l/_cRSEo3pboi89
https://dl.doubtnut.com/l/_64Rx2aIvKRQJ
https://dl.doubtnut.com/l/_Bh07ghP89UR1
https://dl.doubtnut.com/l/_9aCsrOgFtzz8


respectively. Calculate the percentage of two anomers present at

equilibrium mixture with a specific rotation of .

Watch Video Solution

+52.6∘

5. The Chargoff's rule says that DNA contains equal amounts of guanine

and cytosine and also equimolar amounts of adenine and thymine as : 

 


(a) Does Chargoff's rule imply that equal amounts of guanine and

adenine are present in DNA ? 

(b) Does Chargoff's rule imply that the sum of purine residues equals the

sum of pyrimidine residues i.e. does ? 


(c) Does Chargoff's rule apply only to double stranded DNA or would it

apply to each individual strand if the double helical strand were

separated into two complementary strands ?

Watch Video Solution

G = C and A = T

A + G = C + T

https://dl.doubtnut.com/l/_9aCsrOgFtzz8
https://dl.doubtnut.com/l/_fg9lDkEolT5E


6. Explain: On electrolysis in acidic solution, glycine migrates towards

cathode while in alkaline solution, it migrates towards anode.

Watch Video Solution

7. Glucose does not give

Watch Video Solution

8. The  values of a-amino acids are very low. Explain.

Watch Video Solution

Kα and Kβ

9. Give one example each of -amino acid which is achiral and -amino

acid having more than one chiral centre.

Watch Video Solution

α α

https://dl.doubtnut.com/l/_0lwHIXDKkRxO
https://dl.doubtnut.com/l/_CWPH6SpGfChg
https://dl.doubtnut.com/l/_qyC5tVj8ED2L
https://dl.doubtnut.com/l/_Dk4x2BjBvnod
https://dl.doubtnut.com/l/_VAjSBcIznN0r


10. (a). Name the smallest aldose which forms cyclic hemiacetal and the

functional groups are involved in its formation. 

(b). What is invert sugar ? 

(c ). Calculate the specific rotation of invert sugar. Given,

 


 


(d). Give the mechanism of mutarotaion of  gluoco-pyranose in

(i)  and (ii) . 


(e). Why is the mutaraotation faster in the presence of pyridinol?

Watch Video Solution

|α|DofD − glu cos e = 52.7∘

|α|DofD − uc → se = − 92.4∘

β − D −

aq. H ⊕
Θ

OH

2 −

11. Do the anomers of -D-glucose have specific rotations of the same

magnitude but opposite signs?

Watch Video Solution

α

https://dl.doubtnut.com/l/_VAjSBcIznN0r
https://dl.doubtnut.com/l/_ytoQc2QHBg1J


12. A compound A  is oxidised by bromine water into

monobasic acid. It also reduces Tollen's reagent and reacts with HCN to

give a compound (B) which on hydrolysis gives a compound (C). On

treating C with  P, n-heptanoic acid is obtained. Compound A on

treatment with excess phenyl hydrazine gave D-glucosazone. Name the

compound A and draw its cyclic form.

Watch Video Solution

(C6H12O6)

HI /red

13. The Fischer projection of D-glucose is 

 

(i) Write Fischer projection for L-glucose. 

(ii) Give the product of reaction of L-glucose with Tollen's reagent.

View Text Solution

14. If one of the strands of DNA has the following sequence of bases

running in the  direction : 5' − 3'

https://dl.doubtnut.com/l/_5KBJ16uIx0DI
https://dl.doubtnut.com/l/_BLuYG3oTAhMH
https://dl.doubtnut.com/l/_SGuApH6LVx0n


Competition File Objective Type Questions A Multiple Choice Questions




(i) What is the sequence of bases in the complementary strand? 

(ii) Which base is closest to the -end in the complementary strand.

View Text Solution

5' − G − G − A − C − A − A − T − C − T − G − C − 3'

5'

1. Glucose and fructose are

A. structural isomers

B. functional isomers

C. anomers

D. geometrical isomers.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_SGuApH6LVx0n
https://dl.doubtnut.com/l/_k4ADPYDQxC7t
https://dl.doubtnut.com/l/_6EfmNFPdBlm5


2. Glucose is :

A. aldopentose

B. aldohexose

C. ketopentose

D. ketohexose.

Answer: B

Watch Video Solution

3. The monomer unit of starch are:

A. -glucose

B. -glucose

C. pyranose

D. galactose.

α

β

https://dl.doubtnut.com/l/_6EfmNFPdBlm5
https://dl.doubtnut.com/l/_2IiFwdzomQwK


Answer: A

Watch Video Solution

4. Which of the following is the sweetest sugar?

A. Glucose

B. Fructose

C. Maltose

D. Sucrose.

Answer: B

Watch Video Solution

5. Maltose is made up of :

A. -D-glucoseα

https://dl.doubtnut.com/l/_2IiFwdzomQwK
https://dl.doubtnut.com/l/_KcpCJdCwlP0L
https://dl.doubtnut.com/l/_d2AaXi6GtYPG


B. D-fructose

C. -D-glucose and -D-glucose

D. glucose and fructose.

Answer: A

Watch Video Solution

α β

6. Invert sugar is mixture of

A. glucose and fructose

B. glucose and lactose

C. glucose and lactose

D. only glucose.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_d2AaXi6GtYPG
https://dl.doubtnut.com/l/_D8or7uSbwkMv
https://dl.doubtnut.com/l/_MRLj96h9s2nQ


7. Glucose on treatment with sodium amalgam gives

A. n-heptanoic acid

B. Sorbitol

C. gluconic acid

D. glucaric acid

Answer: B

Watch Video Solution

8. Glucose molecule reacts with X number of molecules of

phenylhydrazine to yield osazone. The value of X is

A. three

B. two

C. one

D. four.

https://dl.doubtnut.com/l/_MRLj96h9s2nQ
https://dl.doubtnut.com/l/_KcSgmGb7qvXr


Answer: A

Watch Video Solution

9. Callulose is not digestible by human beings due to the absence of

cellulose hydrolysing enzyme called

A. urease

B. cellulase

C. zymase

D. invertase

Answer: B

Watch Video Solution

10. -D(+)-glucose and -D(+) glucose areα β

https://dl.doubtnut.com/l/_KcSgmGb7qvXr
https://dl.doubtnut.com/l/_tR2ZdCTkYZS7
https://dl.doubtnut.com/l/_nm6FO4jTF48u


A. enantiomers

B. geometrical isomers

C. epimers

D. anomers

Answer: D

Watch Video Solution

11. Complete hydrolysis of cellulose gives:

A. L-glucose

B. D-fructose

C. D-ribose

D. D-glucose

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_nm6FO4jTF48u
https://dl.doubtnut.com/l/_9wCbJbBWYgDQ


12. Which of the following statements is not true about glucose?

A. It is an aldohexose

B. On heating with HI, it forms n-hexane

C. It does not give 2, 4-DNP test

D. It is present in furanose form.

Answer: D

Watch Video Solution

13. The amino acids are the end-products of the digestion of

A. fats

B. lipids

C. proteins

https://dl.doubtnut.com/l/_9wCbJbBWYgDQ
https://dl.doubtnut.com/l/_Hyg6ncceqcks
https://dl.doubtnut.com/l/_6ywWgAgWWUDv


D. enzymes.

Answer: C

Watch Video Solution

14. The sequence in which amino acids are arranged in a protein molecule

refers to its-

A. primary structure

B. secondary structure

C. tertiary structure

D. tetrahedral structure

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_6ywWgAgWWUDv
https://dl.doubtnut.com/l/_uG9CgGUSob6S


15. The bond that stabilizes the secondary structure of proteins is

A. Covalent bond

B. Sulphur linkage

C. Hydrogen bond

D. Ionic bond.

Answer: C

Watch Video Solution

16. Which of the following is a protein?

A. Glycogen

B. Amylopectin

C. Keratin

D. Lecithin.

https://dl.doubtnut.com/l/_U51JitGMR0K6
https://dl.doubtnut.com/l/_Q0AVrbrC49bK


Answer: C

Watch Video Solution

17. Which amino acid has no asymmetric carbon?

A. Histidine

B. Glycine

C. -Alanine

D. Threonin

Answer: B

Watch Video Solution

α

18. Which statement is incorrect about the peptide bond?

https://dl.doubtnut.com/l/_Q0AVrbrC49bK
https://dl.doubtnut.com/l/_CqYtJqie0ToB
https://dl.doubtnut.com/l/_jWKi1Wgy6Q8x


A. C-N bond length in proteins is larger than usual bond length of C-N

bond.

B. Spectroscopic analysis shows planar structure of CO-NH group

C. C-N bond length in proteins is smaller than usual bond length of C-

N bond

D. None of the above.

Answer: A

Watch Video Solution

19. In basic medium, alanine exists as

A. 

B. 

C. 

CH3CH − NH +
3

       |

    COOH
CH3CH − NH −

       |

    COOH
CH3CH − NH2

       |

    COO−

https://dl.doubtnut.com/l/_jWKi1Wgy6Q8x
https://dl.doubtnut.com/l/_CopcTpCWoUyh


D. 

Answer: C

Watch Video Solution

CH3CH − NH +
3

       |

    COO−

20. Which of the following is not an essential amino acid?

A. Lysine

B. Glysine

C. Phenylalanine

D. Valine

Answer: B

Watch Video Solution

21. Denaturation of protein leads to loss of its biological activity by :-

https://dl.doubtnut.com/l/_CopcTpCWoUyh
https://dl.doubtnut.com/l/_l9xbcW8yL44U
https://dl.doubtnut.com/l/_O8F33QyydRS9


A. loss of primary structure

B. loss of primary and secondary structure

C. loss of secondary and tertiary structure

D. formation of amino acids.

Answer: C

Watch Video Solution

22. In which of the following pair, both the proteins are same type, fibrous

or globular?

A. myosin, albumin

B. insulin, collagen

C. keratin, fibroin

D. albumin, myosin

Answer: C

https://dl.doubtnut.com/l/_O8F33QyydRS9
https://dl.doubtnut.com/l/_OPCk2F1zf7I1


Watch Video Solution

23. The chemical messengers produced in ductless glands are called:

A. Lipids

B. Cellular membrane

C. Hormones

D. Antibodies

Answer: C

Watch Video Solution

24. Which of the following hormones control the homeostasis of glucose

?

A. thyroxine

B. oxytocin

https://dl.doubtnut.com/l/_OPCk2F1zf7I1
https://dl.doubtnut.com/l/_8nKtwr2AcDRL
https://dl.doubtnut.com/l/_1mSAIx4CW0uH


C. insulin

D. cortisone

Answer: C

Watch Video Solution

25. Deficiency of vitamin D leads to disease

A. Rickets

B. Beri-beri

C. Scurvy

D. Night-blindness

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_1mSAIx4CW0uH
https://dl.doubtnut.com/l/_1WQG18CSqs63


26. Night-blindness may be caused by the deficiency of vitamin

A. A

B. B

C. C

D. D

Answer: A

Watch Video Solution

27. Vitamin  is called:

A. Ascorbic acid

B. Retinol

C. Calciferol

D. None of these

A

https://dl.doubtnut.com/l/_TTt1gxXjmk3V
https://dl.doubtnut.com/l/_NUiuYrWfVfXE


Answer: B

Watch Video Solution

28. The only vitamin with metal atom in it is

A. Vitamin A

B. Vitamin K

C. Vitamin 

D. Vitamin E.

Answer: C

Watch Video Solution

B12

29. Enzymes are regarded as

A. biocatalysts

https://dl.doubtnut.com/l/_NUiuYrWfVfXE
https://dl.doubtnut.com/l/_Hap5hKOYsJpb
https://dl.doubtnut.com/l/_1EUCGbqqiTgU


B. activators

C. messengers

D. antibodies

Answer: A

Watch Video Solution

30. Which of the following B group vitamins can be stored in our body?

A. Vitamin 

B. Vitamin 

C. Vitamin 

D. Vitamin 

Answer: D

Watch Video Solution

B1

B2

B6

B12

https://dl.doubtnut.com/l/_1EUCGbqqiTgU
https://dl.doubtnut.com/l/_KO37tZwrkcKE
https://dl.doubtnut.com/l/_5nMOtKerptHF


31. Which of the following hormones is an amino acid derivative?

A. Oxytocin

B. Estrone

C. Adrenaline

D. Vasopressin

Answer: C

Watch Video Solution

32. The best source of vitamin  is :

A. cereals

B. egg yolk

C. citrus fruits

D. milk Nucleic acids

C

https://dl.doubtnut.com/l/_5nMOtKerptHF
https://dl.doubtnut.com/l/_cqfVKOtRVfyN


Answer: C

Watch Video Solution

33. Nucleic acids are polymers of

A. nucleosides

B. globnulins

C. nucleons

D. nucleotides

Answer: D

Watch Video Solution

34. The three dimensional structure of DNA was elucidated

A. James Watson

https://dl.doubtnut.com/l/_cqfVKOtRVfyN
https://dl.doubtnut.com/l/_YppEiYTonjDO
https://dl.doubtnut.com/l/_r8Mj64w8LSNN


B. M. Wilkins

C. Dalton

D. Franklin

Answer: A

Watch Video Solution

35. Which of the following bases is not present in DNA

A. Adenine

B. Guanine

C. Uracil

D. Thymine

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_r8Mj64w8LSNN
https://dl.doubtnut.com/l/_nh5pKJcQxAlV
https://dl.doubtnut.com/l/_yq3KLuHMJQkO


36. The chemical change in DNA molecule that could lead to synthesis of

protein with an altered amino acid sequence is called

A. Replication

B. Lipid formation

C. Cellular membrane

D. Mutation.

Answer: D

Watch Video Solution

37. In nucleic acid, corresponding nucleotides are linked together by -

A. peptide linkage

B. phosphate group

C. glycosidic linkage

D. hydrogen bonds

https://dl.doubtnut.com/l/_yq3KLuHMJQkO
https://dl.doubtnut.com/l/_vHf12vcsd7OT


Answer: B

Watch Video Solution

38. The relationship between the nucleotide triplets and the amino acid is

called.

A. Gene

B. Genetic code

C. Replication

D. Enzymes

Answer: B

Watch Video Solution

39. Mutation in DNA occurs due to changes in the sequence of

https://dl.doubtnut.com/l/_vHf12vcsd7OT
https://dl.doubtnut.com/l/_m1FKMWcd72DN
https://dl.doubtnut.com/l/_JYGJESaq5yZU


A. nitrogeneous bases

B. ribose units

C. phosphate units

D. hydrogen bonds

Answer: A

Watch Video Solution

40. Chargaff' a rule states that in an organism:

A. amount of adenine (A) is equal to that of thymine (T) and the

amount of guanine (G) is equal to that of cytosine (C).

B. Amount of adenine (A) is equal to that of guanine (G) and the

amount of thymine (T) is equal to that of cytosine (C)

C. Amount of adenine (A) is equal to that of cytosine (C) and the

amount of thymine (T) is equal to that of guanine (G)

https://dl.doubtnut.com/l/_JYGJESaq5yZU
https://dl.doubtnut.com/l/_Ok2Z4r5YfN9v


D. Amount of all bases are equal.

Answer: A

Watch Video Solution

41. Which of the following statement is not correct?

A. Cytosine and thymine are pyrimidines

B. DNA differs from RNA in sugar as well as nitrogenous base

C. In RNA, heterocylic amine base is bonded to C-1' of sugar and the

phosphoric acid is bonded to C-5' sugar position

D. In double helix structure of DNA, thymine can bond to cytosine by

two hydrogen bonds

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Ok2Z4r5YfN9v
https://dl.doubtnut.com/l/_WJt16zBl2OYG
https://dl.doubtnut.com/l/_F3jB0pcCBKAJ


42. The bond formed as the result of dehydration synthesis reaction

between two nucleotides is called as

A. glycosidic bond

B. aminoester bond

C. phosphodiester bond

D. disulphide linkage

Answer: C

Watch Video Solution

43. The number of hydrogen bonds between adenine and thymine in DNA

molcule are

A. 1

B. 2

C. 3

https://dl.doubtnut.com/l/_F3jB0pcCBKAJ
https://dl.doubtnut.com/l/_UwEX0zzujDok


D. 0

Answer: B

Watch Video Solution

44. Which of the following gives maximum energy in metabolic process?

A. Proteins

B. Vitamins

C. Lipids

D. Carbohydrates

Answer: C

Watch Video Solution

45. Phospholipids are esters of glycerol with

https://dl.doubtnut.com/l/_UwEX0zzujDok
https://dl.doubtnut.com/l/_SbSTUX8pai5U
https://dl.doubtnut.com/l/_q7B5A8NE9Uk8


Competition File Objective Type Questions B Multiple Choice Questions

A. three carboxylic acid residues

B. two carboxylic acid residues and one phosphate group

C. one carboxylic acid residue and two phosphate groups

D. three phosphate groups.

Answer: B

Watch Video Solution

1. Which of the following is an amine hormone ?

A. Oxytocin

B. Insuline

C. Progesterone

D. Thyroxine

https://dl.doubtnut.com/l/_q7B5A8NE9Uk8
https://dl.doubtnut.com/l/_2HmbEglqvUST


Answer: D

Watch Video Solution

2. In DNA, the complementary bases are 

A. adenine and thymine, guanine and cytosine

B. adenine and thymine, guanine and uracil

C. adenine and guanine, thymine and cytosine

D. uracil and adenine, cytosine and guanine

Answer: A

Watch Video Solution

:

3. Which of the following hormones contains iodine

A. Testosterone

https://dl.doubtnut.com/l/_2HmbEglqvUST
https://dl.doubtnut.com/l/_1LUDkxt5LbW7
https://dl.doubtnut.com/l/_WscQrCsnB0JO


B. Adrenaline

C. Thyroxine

D. Insulin

Answer: C

Watch Video Solution

4. If one strand of DNA has the sequence ATGCTTGA, the sequence in the

complimentary strand would be

A. TCCGAACT

B. TACGTAGT

C. TACGAACT

D. TAGCTAGT

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_WscQrCsnB0JO
https://dl.doubtnut.com/l/_5VQRTssEN0Cv


5. Which one of the following does not exhibit the phenomenon of

mutarotation ?

A.  Maltose

B.  Fructose

C.  Sucrose

D. Lactose

Answer: C

Watch Video Solution

( + )

( − )

( + )

6. Which one of the following statements is not true regarding 

Lactose ?

A. On hydrolysis  lactose gives equal amount of  glucose

and  galactose.

( + )

( + ) D( + )

D( + )

https://dl.doubtnut.com/l/_5VQRTssEN0Cv
https://dl.doubtnut.com/l/_uGhpq3seNB4p
https://dl.doubtnut.com/l/_SuAo65SwA6J4


B.  Lactose is a glucoside formed by the union of a molecule

of  glucose and a molecule of  galactose.

C.  Lactose is a reducing sugar and does not exihibit

mutarotation.

D.  Lactose,  contains 8-OH groups.

Answer: C

Watch Video Solution

( + ) β −

D( + ) D( + )

( + )

( + ) C12, H22, O11

7. Which one of the following does not exhibit the phenomenon of

mutarotation ?

A.  Maltose

B.  Fructose

C.  Sucrose

D. Lactose

( + )

( − )

( + )

https://dl.doubtnut.com/l/_SuAo65SwA6J4
https://dl.doubtnut.com/l/_6v8UAIhAek0d


Answer: C

Watch Video Solution

8. The linkage between the two monosaccharide units in lactose is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

C1  of β − D − glucose and C4  of β − D − galactose

C1  of β − D − galactose and C4  of β − D − glucose

C1  of α − D − galactose and C4  of β − D − glucose

C1  of β − D − galactose and C4  of α − D − glucose

9. A basic amino acid among the following is

A. glycine

https://dl.doubtnut.com/l/_6v8UAIhAek0d
https://dl.doubtnut.com/l/_GIC7XTBoarcs
https://dl.doubtnut.com/l/_g6gQmPtoLm19


B. valine

C. proline

D. histidine

Answer: D

Watch Video Solution

10. Glucose on oxidation with bromine water gives

A. gluconic acid

B. tartaric acid

C. saccharic acid

D. mesooxalic acid

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_g6gQmPtoLm19
https://dl.doubtnut.com/l/_LYCjn2ju4IMs
https://dl.doubtnut.com/l/_lW7dCb48JMZT


11. Which one of the following sets of monosaccharides forms sucrose ?

A. -D-galactopyranose and -D-glucopyranose

B. -D-glucopyranose and -D-fructofuranose

C. -D-glucopyranose and -D-fructofuranose

D. -D-glucopyranose and -D-fructopyranose

Answer: B

Watch Video Solution

α α

α β

β α

α β

12. Deficiency of vitamin  causes the disease 

A. convulsions

B. beri-beri

C. cheilosis

D. sterility

B1 :

https://dl.doubtnut.com/l/_lW7dCb48JMZT
https://dl.doubtnut.com/l/_VrrXifmVaISU


Answer: B

Watch Video Solution

13. Which of the following hormones is produced under the conditions of

stress which stimulate glycogenolysis in the liver of human beings ?

A. Thyroxin

B. Insulin

C. Adrenaline

D. Estradiol

Answer: C

Watch Video Solution

14.  glucose reacts with hydroxylamine and yields an oxime. The

structure of the oxime would be 

D( + )

:

https://dl.doubtnut.com/l/_VrrXifmVaISU
https://dl.doubtnut.com/l/_aWjzY706QBcV
https://dl.doubtnut.com/l/_BCf0czVAsKw4


A. 

B. 

            CH = NOH

               |

    H − C − OH

               |

 HO − C − H

               |

 HO − C − H

               |

   H − C − OH

               |

            CH2OH

            CH = NOH

               |

 HO − C − H

               |

 HO − C − H

               |

   H − C − OH

               |

   H − C − OH

               |

           CH2OH

https://dl.doubtnut.com/l/_BCf0czVAsKw4


C. 

D. 

Answer: D

Watch Video Solution

            CH = NOH

                |

 HO − C − H

               |

    H − C − OH

               |

 HO − C − H

               |

   H − C − OH

               |

            CH2OH

            CH = NOH

                |

    H − C − OH

               |

 HO − C − H

               |

    H − C − OH

               |

   H − C − OH

               |

            CH2OH

15. Cheilosis and digestive disorders are due to the deficiency of

https://dl.doubtnut.com/l/_BCf0czVAsKw4
https://dl.doubtnut.com/l/_AwVUo3Vi8yQ5


A. vitamin A

B. thiamine

C. riboflavin

D. ascorbic acid

Answer: C

Watch Video Solution

16. Glucose does not react with :

A. Hydroxylamine

B. Conc. 

C. acetic anhydride

D. sodium bisulphate

Answer: D

Watch Video Solution

HNO3

https://dl.doubtnut.com/l/_AwVUo3Vi8yQ5
https://dl.doubtnut.com/l/_u2fVzgJdSUVX


17. The correct statement regarding  and , respectively is 

A. the sugar component in RNA is a arabinose and the sugar

component in DNA is ribose

B. the sugar component in RNA is 2' – deoxyribose and the sugar

component in DNA is arabinose

C. the sugar component in RNA is arabinose and the sugar

component in DNA is 2'- deoxyribose

D. the sugar component in RNA is ribose and the sugar component in

DNA is 2'- deoxyribose.

Answer: D

Watch Video Solution

RNA DNA :

18. In a protein molecule various amino acids are linked together by :

https://dl.doubtnut.com/l/_u2fVzgJdSUVX
https://dl.doubtnut.com/l/_uZPY3Jxvhs4R
https://dl.doubtnut.com/l/_Oc0OQvuVpL1k


A. peptide bond

B. dative bond

C. -glycosidic bond

D. -glycosidic bond

Answer: A

Watch Video Solution

α

β

19. Which one given below is a non  reducing sugar ?

A. Glucose

B. Sucrose

C. Maltose

D. Lactose

Answer: B

Watch Video Solution

−

https://dl.doubtnut.com/l/_Oc0OQvuVpL1k
https://dl.doubtnut.com/l/_ouqHPYZd5TDA


20. The central dogma of molecular genetics states that the genetic

information flows from

A. Amino acids  Proteins DNA

B. DNA  Carbohydrates  Proteins

C. DNA  RNA  Proteins

D. DNA  RNA  Carbohydrates

Answer: C

Watch Video Solution

→ →

→ →

→ →

→ →

21. Which of the following statements is not correct?

A. Ovalbumin is a simple food reserve in egg-white.

B. Blood proteins thrombin and fibrinogen are involved in blood

clotting.

https://dl.doubtnut.com/l/_ouqHPYZd5TDA
https://dl.doubtnut.com/l/_EALUuZko7kw5
https://dl.doubtnut.com/l/_nTYmqHP8CjsK


C. Denaturation makes the proteins more active.

D. Insulin maintains sugar level in the blood of a human body.

Answer: C

Watch Video Solution

22. The difference between amylose and amylopectin is

A. amylopectin have 1  4 -linkage and 1  6 -linkage

B. amylose have 1  4 -linkage and 1  6 -linkage

C. amylopectin have 1 4 -linkage and 1  6 -linkage

D. amylose is made up of glucose and galactose

Answer: A

Watch Video Solution

→ α → α

→ α → β

→ α → β

https://dl.doubtnut.com/l/_nTYmqHP8CjsK
https://dl.doubtnut.com/l/_oy2A6JZU48rY


23. Enzymes that utilize ATP in phosphate transfer require an alkaline

erath metal (M) as the cofactor M is

A. Sr

B. Be

C. Mg

D. Ca

Answer: C

Watch Video Solution

24. The non-essential amino acid among the following is

A. lysine

B. valine

C. leucine

D. alanine

https://dl.doubtnut.com/l/_uu3tjpV7wgr8
https://dl.doubtnut.com/l/_esobkbdzjHxr


Competition File Objective Type Questions B Multiple Choice Questions Jee

Main Other State Boards For Engineering Entrance

Answer: D

Watch Video Solution

1. The tripeptide is written as Glycine-Alanine-Glycine. The correct

structure of the tripeptide is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_esobkbdzjHxr
https://dl.doubtnut.com/l/_XZpYlAs3xfYt
https://dl.doubtnut.com/l/_B1npG1WV9k0D


2. The two function groups present in a typical carbohydrate are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

−OH and − COOH

−CHO and − COOH

−OH and − CHO

3. Biuret test is not given by :

A. Urea

B. Proteins

C. Carbohydrates

D. Polypeptides

https://dl.doubtnut.com/l/_B1npG1WV9k0D
https://dl.doubtnut.com/l/_nLCo5m1oGxvp


Answer: C

Watch Video Solution

4. Lactose is made of

A. glucose only

B. glucose and glucose

C. galactose and glucose

D. galactose and glucose

Answer: C

Watch Video Solution

α − D −

α − D − β − D −

α − D − β − D −

α − D − α − D −

5. -maltose consists of

A. one -D-glucopyranose unit and one

α

α

https://dl.doubtnut.com/l/_nLCo5m1oGxvp
https://dl.doubtnut.com/l/_DkOYAXCmqcmw
https://dl.doubtnut.com/l/_ULHJ1B75QpPy


B. -D- glucopyranose unit with 1-2 glycosidic linkage

C. two -D-glucopyranose units with 1-4 glycosidic linkage

D. two -D-glucopyranose units with 1-4 glycosidic linkage

Answer: D

View Text Solution

β

α

β

6. Glucose reacts with Tollen's reagent to give a derivative of

A. monocarboxylic acid

B. dicarboxylic acid

C. ketone

D. keto acid

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ULHJ1B75QpPy
https://dl.doubtnut.com/l/_8j61DXEc0X68
https://dl.doubtnut.com/l/_Bp79Z5Qdoxhi


7. The presence or absence of hydroxy group on which carbon atom of

sugar differentiates  and .

A. 1 st

B. 2nd

C. 3rd

D. 4th

Answer: B

Watch Video Solution

RNA DNA

8. The change in optical rotation with time of freshly prepared solution of

sugar is known as :

A. racemisation

B. specific rotation

C. mutarotation

https://dl.doubtnut.com/l/_Bp79Z5Qdoxhi
https://dl.doubtnut.com/l/_eKSy1iGUT1an


D. tautomerism

Answer: C

Watch Video Solution

9. Which one of the following statements is correct?

A. All amino acids are optically active

B. All amino acids except glycine are optically active

C. All amino acids except glutamic acid are optically active

D. All amino acids except lysine are optically active

Answer: B

Watch Video Solution

10. Which of the following compounds can be detected by Molisch's test?

https://dl.doubtnut.com/l/_eKSy1iGUT1an
https://dl.doubtnut.com/l/_AvLpHFXDon65
https://dl.doubtnut.com/l/_ktifq86a53tx


A. Sugars

B. Amines

C. Primary alcohols

D. Nitro compounds

Answer: A

View Text Solution

11. The - and -forms of glucose are

A. isomers of D(+) glucose and L(-) glucose respectively

B. diastereomers of glucose

C. anomers of glucose

D. isomers which differ in the configuration of C-2

Answer: C

View Text Solution

α β

https://dl.doubtnut.com/l/_ktifq86a53tx
https://dl.doubtnut.com/l/_XAcKqdrXVNhl


12. Which one of the following is essential for cell wall formation?

A. Starch

B. Glycogen

C. Cellulose

D. Amylose

Answer: C

Watch Video Solution

13. Why sucrose is not a reducing sugar.

A. it is chemically stable

B. it contains no free aldehyde or keto group adjacent to a  group

C. it is built up of a fructose unit

https://dl.doubtnut.com/l/_XAcKqdrXVNhl
https://dl.doubtnut.com/l/_J4Lb9QsO6XKe
https://dl.doubtnut.com/l/_YYBk0JmZ2wwt


D. it is optically active

Answer: B

Watch Video Solution

14. The correct structure of the dipeptide gly-ala is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_YYBk0JmZ2wwt
https://dl.doubtnut.com/l/_cd8ANIaRBghZ
https://dl.doubtnut.com/l/_xBcvtJ3BGtAi


15. Ribose and 2-deoxyribose can be differentiated by

A. Fehling's reagent

B. Tollen's reagent

C. Barfoed's reagent

D. Osazone formation

Answer: D

Watch Video Solution

16. How many amino acids are present in insulin ?

A. 25

B. 51

C. 20

D. 22

https://dl.doubtnut.com/l/_xBcvtJ3BGtAi
https://dl.doubtnut.com/l/_VEVUgrY5vOgr


Answer: B

Watch Video Solution

17. Synthesis of each molecule of glucose in photosynthesis involves :

A. 6 molecules of ATP

B. 18 molecules of ATP

C. 10 molecules of ATP

D. 8 molecules of ATP

Answer: B

Watch Video Solution

18. Which of the following bases is not present in DNA ?

A. quinoline

https://dl.doubtnut.com/l/_VEVUgrY5vOgr
https://dl.doubtnut.com/l/_k8PkK9x3s6S2
https://dl.doubtnut.com/l/_MenubE1PSfJt


B. adenine

C. cytosine

D. thymine

Answer: A

Watch Video Solution

19. The statement that is not correct is

A. aldose and ketose sugars in alkaline medium do not isomerise.

B. carbohydrates are optically active.

C. pentaacetate of glucose does not react with hydroxylamine.

D. lactose has glycosidic linkage between  of glucose and  of

galactose unit.

Answer: A

View Text Solution

C1 C4

https://dl.doubtnut.com/l/_MenubE1PSfJt
https://dl.doubtnut.com/l/_XXS1o5bMqgta


20. Which one of the following is an essential amino acid?

A. Cysteine

B. Serine

C. Tryosine

D. Isoleucine

Answer: D

Watch Video Solution

21. Adenosine is an example of

A. purine base

B. nucleoside

C. nucleotide

https://dl.doubtnut.com/l/_XXS1o5bMqgta
https://dl.doubtnut.com/l/_7c0unCkuA7MT
https://dl.doubtnut.com/l/_RzDLKzrphk9h


D. pyrimidine base

Answer: B

Watch Video Solution

22. Glycogen is

A. a structural polysaccharide

B. structurally similar to amylopectin but extensively branched

C. a polymer of -D- glucose units

D. structurally very much similar to amylopectin.

Answer: B

View Text Solution

β

https://dl.doubtnut.com/l/_RzDLKzrphk9h
https://dl.doubtnut.com/l/_VnN9DOa3RIrz


23. Which the list shown below, the correct pair of structures of alanine in

pH ranges 2-4 and 9-11 is 

I.  


II.  


III.  


IV. 

A. I, II

B. I, III

C. II, III

D. III, IV

Answer: A

Watch Video Solution

H3N
+CH(CH3)CO2H

H2NCH(CH3)CO−
2

H3N
+CH(CH3)CO−

2

H2NCH(CH3)CO2H

24. Which of the vitamins given below is water soluble ?

https://dl.doubtnut.com/l/_9nTDUTjDNdlO
https://dl.doubtnut.com/l/_77jCSbLuXkfo


A. Vitamin E

B. Vitamin K

C. Vitamin C

D. Vitamin D

Answer: C

Watch Video Solution

25. Thiol group is present in

A. cytosine

B. cystine

C. cysteine

D. methionine

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_77jCSbLuXkfo
https://dl.doubtnut.com/l/_pYXkuK4NLgI4


26. Glucose on oxidation with bromine water yields gluconic acid. This

reaction confirms the presence of

A. six carbon atoms linked in straight chain

B. secondary alcoholic group in glucose

C. aldehyde group in glucose

D. primary alcoholic group in glucose.

Answer: C

Watch Video Solution

27. In double strand helix structure of DNA, heterocyclic base cytosine

forms hydrogen bond with

A. adenine

B. guanine

https://dl.doubtnut.com/l/_pYXkuK4NLgI4
https://dl.doubtnut.com/l/_iNBA7DwR7F5H
https://dl.doubtnut.com/l/_5LyuDdxATFjr


C. purine

D. thyamine

Answer: B

View Text Solution

28. Which of the following is non-reducing sugar ?

A. Maltose

B. Lactose

C. Sucrose

D. Glucose

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_5LyuDdxATFjr
https://dl.doubtnut.com/l/_Md93D1t02pLo


29. Which one of the following gives positive Fehling's solution test?

A. Sucrose

B. Glucose

C. Fats

D. Protein

Answer: B

Watch Video Solution

30. Which of the following compounds will behave as a reducing sugar in

an aqueous KOH solution ?

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_nr65XXY4l9x3
https://dl.doubtnut.com/l/_hsae2RnQgodp


Answer: A

Watch Video Solution

31. ADP and ATP differ in the number of-

A. phosphate units

B. ribose unit

C. adenine base

D. nitrogen atom

Answer: A

Watch Video Solution

32. Hormones are secreted by ductless glands of human body. Iodine

containing hormone is

https://dl.doubtnut.com/l/_hsae2RnQgodp
https://dl.doubtnut.com/l/_f4eLON1ajhTe
https://dl.doubtnut.com/l/_ylaDo8r5A9op


A. Insulin

B. adrenaline

C. testosterone

D. thyroxine

Answer: D

Watch Video Solution

33. Pick the wrong statement from the following:

A. Consumption of citrus fruits and green leafy vegetables in food

prevents scurvy.

B. Deficiency of vitamin pyridoxine) results in convulsions.

C. Sources of vitamin  are yeast, milk, green vegetables and cereals.

D. Deficiency of vitamin D causes Xerophthalmia.

Answer: D

B6

B1

https://dl.doubtnut.com/l/_ylaDo8r5A9op
https://dl.doubtnut.com/l/_phelGClxStRC


View Text Solution

34. The glycosidic linkage present in sucrose is between

A. C - 1 of -glucose and C - 2 of -fructose

B. C- 1 of -galactose and C-4 of -glucose

C. C - 1 of -glucose and C - 4 of -glucose

D. C - 1 of -glucose and C - 4 of -fructose

Answer: A

View Text Solution

α β

β α

α α

α β

35. What is the correct explanation of the non-reducing property of

sucrose?

A. -D-glucopyranose and -D-fructofuranose are linked via 

 centres respectively.

α β

C2 and C1

https://dl.doubtnut.com/l/_phelGClxStRC
https://dl.doubtnut.com/l/_ihn5tq1lf0un
https://dl.doubtnut.com/l/_SgRqb91huWqh


B. -D-glucopyranose and -D-fructofuranose are linked via 

 centres respectively.

C. -D-glucopyranose and -D-fructofuranose are linked via 

 centres respectively.

D. -D-glucopyranose and -D-fructofuranose are linked via 

 centres respectively.

Answer: B

View Text Solution

α β

C1 and C2

α β

C2 and C2

α β

C3 and C4

36. Two forms of D-glucopyranose, are called

A. diastereomers

B. anomers

C. epimers

D. enantiomers

https://dl.doubtnut.com/l/_SgRqb91huWqh
https://dl.doubtnut.com/l/_AMKpGSTv846i


Answer: B

Watch Video Solution

37. Glycosidic linkage is :

A.  linkage

B. -linkage

C. -linkage

D. -linkage

Answer: D

Watch Video Solution

C1– C4– β

C1– C6– α

C1– C6– β

C1– C4– α

38. Glucose on prolonged heating with HI gives

A. n-Hexane

https://dl.doubtnut.com/l/_AMKpGSTv846i
https://dl.doubtnut.com/l/_Ny8tBpzKG3jq
https://dl.doubtnut.com/l/_rOoI00Vr7j58


B. 1-Hexene

C. Hexanoic acid

D. 6-iodohexanal

Answer: A

Watch Video Solution

39. The predominant form of histamine present in human blood is (pKa,

Histidine = 6.0)

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_rOoI00Vr7j58
https://dl.doubtnut.com/l/_zX4AzddERZYN


40. In simplified version of nucleic acid chain, nucleotides are joined

together by

A. phosphoester linkage

B. phosphodiester linkage

C. phosphodisulphide linkage

D. sulphodiester linkage

Answer: B

Watch Video Solution

41. Prothrombin that helps in clotting of blood, is present in

A. A

B. C

C. B2

https://dl.doubtnut.com/l/_zX4AzddERZYN
https://dl.doubtnut.com/l/_R4ZnGGino8wU
https://dl.doubtnut.com/l/_i4PngUR4wjCW


D. K

Answer: D

Watch Video Solution

42. What is an invert sugar ?

A. isorotatory

B. laevorotatory

C. dextrorotatory

D. optically inactive

Answer: B

Watch Video Solution

43. The vitamin which contain aromatic ring is

https://dl.doubtnut.com/l/_i4PngUR4wjCW
https://dl.doubtnut.com/l/_B26sYNAPglTs
https://dl.doubtnut.com/l/_iUh7ddk2ZKUH


A. B complex

B. C

C. A

D. K

Answer: D

Watch Video Solution

44. Maltose on treatment with dilute HCl gives

A. D-Glucose and D-Fructose

B. D-Fructose

C. D-Galactose

D. D-Glucose

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_iUh7ddk2ZKUH
https://dl.doubtnut.com/l/_sri6YRqBCfro


45. The peptide that gives positive ceric ammonium nitrate and

carbylamines tests is:

A. Lys-Asp

B. Ser-Lys

C. Gln-Asp

D. Asp-Gin

Answer: B

Watch Video Solution

46. The number of chiral carbon atom present in open chain and cyclic

form of glucose -

A. 4 & 5

B. 5 & 5

https://dl.doubtnut.com/l/_sri6YRqBCfro
https://dl.doubtnut.com/l/_1mWoJ2pV3aO7
https://dl.doubtnut.com/l/_2hynlCWcBim5


C. 4 & 4

D. 5 & 4

Answer: A

Watch Video Solution

47. Which of the following IS INCORRECT about glycogen ?

A. It is a straight chain polymer similar to amylose

B. Only -linkages are present in the molecule

C. It is present in animal cells

D. It is present in some yeast and fungi

Answer: A

Watch Video Solution

α

https://dl.doubtnut.com/l/_2hynlCWcBim5
https://dl.doubtnut.com/l/_Alv6jRF7cY8F


48. Among the following compounds most basic amino acid is :

A. Serine

B. Lysine

C. Histidine

D. Asparagine.

Answer: B

Watch Video Solution

49. The correct structure of histidine in a strongly acidic solution

 is :

A. 

B. 

C. 

D. 

(Ph = 2)

https://dl.doubtnut.com/l/_jpsE8x6OYlQy
https://dl.doubtnut.com/l/_J6RkBKA4JfTH


Answer: A

Watch Video Solution

50. Glucose and fructose can be disntiguished by

A. Fehling's test

B. Barfoed's test

C. Benedict's test

D. Seliwanoff's test

Answer: D

Watch Video Solution

51. Which of the following statements is not true about sucrose?

A. On hydrolysis, it produces glucose and fructose

https://dl.doubtnut.com/l/_J6RkBKA4JfTH
https://dl.doubtnut.com/l/_uPTAUKc5VI1F
https://dl.doubtnut.com/l/_ds2Vux0jtaJ7


B. The glycosidic linkage is present between  of -glucose and  of

-fructose

C. It is also named as invert sugar

D. It is a non-reducing sugar

Answer: B

Watch Video Solution

C1 α C4

β

52. Amylopectin in composed of:

A. -D-glucose,  linkages

B. -D-glucose,  linkages

C. -D-glucose,  linkages

D. -D-Glucose,  linkages

Answer: A

Watch Video Solution

α C1 − C4 and C1 − C6

α C1 − C4 and C2 − C6

β C1 − C4 and C2 − C6

β C1 − C4 and C1 − C6

https://dl.doubtnut.com/l/_ds2Vux0jtaJ7
https://dl.doubtnut.com/l/_uikYjBAN2JIX


53. Which of the following statements is not true about RNA?

A. It has always double stranded -helix structure

B. It usually does not replicate

C. It is present in the nucleus of the cell

D. It controls the synthesis of protein

Answer: A

Watch Video Solution

α

54. Which of the following tests cannot be used for identifying amino

acids ?

A. Biuret test

B. Xanthoproteic test

C. Barfoed test

https://dl.doubtnut.com/l/_uikYjBAN2JIX
https://dl.doubtnut.com/l/_tpTlpGRcDQI6
https://dl.doubtnut.com/l/_mVWuQnCIiBON


Competition File Objective Type Questions B Multiple Choice Questions Jee

Advanced For Iit Entrance

D. Ninhydrin test

Answer: C

Watch Video Solution

1. Cellulose upon acetylation with excess acetic anhydride/

(catalytic) gives cellulose triacetate whose structure is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H2SO4

https://dl.doubtnut.com/l/_mVWuQnCIiBON
https://dl.doubtnut.com/l/_s2yjMq7ldaqK


2. The following carbohydrate is 

A. a ketohexose

B. an aldohexose

C. an -furanose

D. an -pyranose

Answer: B

View Text Solution

α

α

3. The structure of glucose is 


 

The structure of glucose is

A. 

D − ( + ) −

L − ( − ) −

https://dl.doubtnut.com/l/_s2yjMq7ldaqK
https://dl.doubtnut.com/l/_irosVxyaLhqE
https://dl.doubtnut.com/l/_7KuwMi5dvsnD


Competition File Objective Type Questions C Multiple Choice Questions

B. 

C. 

D. 

Answer: A

View Text Solution

1. Starch is a mixture of

A. amylum

B. amylopectin

C. amylase

D. -D-glucose

Answer: B::C

β

https://dl.doubtnut.com/l/_7KuwMi5dvsnD
https://dl.doubtnut.com/l/_WiA8mQSUpxjh


Watch Video Solution

2. Which of the following are essential amino acids?

A. Valine

B. Lysine

C. Alanine

D. Serine

Answer: A::B

View Text Solution

3. Which one of the following glycosidic linkages is found in maltose?

A. Maltose

B. Amylose

C. Galactose

https://dl.doubtnut.com/l/_WiA8mQSUpxjh
https://dl.doubtnut.com/l/_Lb1n3rAlfVWb
https://dl.doubtnut.com/l/_2QIMX5275lpT


D. Sucrose

Answer: A::B::D

Watch Video Solution

4. What are fibrous proteins ? Give examples.

A. myosin

B. albumins

C. collagen

D. fibroin

Answer: A::C::D

Watch Video Solution

5. The substituted pyrimidines are

https://dl.doubtnut.com/l/_2QIMX5275lpT
https://dl.doubtnut.com/l/_ZHmMECZFew2Y
https://dl.doubtnut.com/l/_o4GEQGNHq2yT


A. adenine

B. uracil

C. cytosine

D. guanine

Answer: B::C

View Text Solution

6. Which of the following statements is/are correct?

A. Adenine and cytosine are substituted purines

B. the sugar present in DNA nucleoside is deoxyribose

C. RNA contains uracil instead of thymine present in DNA

D. In nucleic acids, a phosphate group is bonded to a hydroxyl group

of sugar.

Answer: B::C::D

https://dl.doubtnut.com/l/_o4GEQGNHq2yT
https://dl.doubtnut.com/l/_mQUjgnQN8Yvh


Watch Video Solution

7. Which of the following statements is/are not true?

A. Collagen in tendons is a globular protein

B. Keratin protein present in hair has a-helix structure

C. Coagulation of albumin present in white of an egg is an example of

denaturation of protein.

D. The enzymes are not specific in nature.

Answer: B::D

View Text Solution

8. The correct statement(s) about the following sugars X and Y is(are) 

A. (X) is a reducing sugar and (Y) is a non-reducing sugar

https://dl.doubtnut.com/l/_mQUjgnQN8Yvh
https://dl.doubtnut.com/l/_rPcQsUqNueuR
https://dl.doubtnut.com/l/_2AWCIQZRCVh0


B. (X) is a non-reducing sugar and (Y) is a reducing sugar

C. The glycosidic linkages in (X) and (Y) are  and -respectively

D. The glycosidic linkages in (X) and (Y) are  and -respectively.

Answer: B::C

View Text Solution

α β

β α

9. Among the following statements about the molecules X and Y, the

one(s) which is (are) correct is (are) 

A. X and Y are diastereomers

B. X and Y are enantiomers

C. X and Y are both aldohexoses

D. X is a D-sugar and Y is an L-sugar.

Answer: B::C::D

https://dl.doubtnut.com/l/_2AWCIQZRCVh0
https://dl.doubtnut.com/l/_Gzj2L3lZ2dlH


View Text Solution

10. For 'invert sugar', the correct statement(s) is (are) 

(Given : specific rotations of (+) - sucrose, (+) - maltose, +

 respectively)

A. 'invert sugar' is prepared by acid catalyzed hydrolysis of maltose

B. 'invert sugar' is an equimolar mixture of glucose and 

fructose

C. specific rotation of 'invert sugar' is 

D. on reaction with  water, 'invert sugar' forms saccharic acid as

one of the products.

Answer: B::C

Watch Video Solution

66∘ , + 140∘ , − 52∘ and 92∘

D − ( + )

D − ( − ) −

−20∘

Br2

11. Which of the following statement(s) is(are) true?

https://dl.doubtnut.com/l/_Gzj2L3lZ2dlH
https://dl.doubtnut.com/l/_a3q9q2rQiDSj
https://dl.doubtnut.com/l/_ffaG7bOISfdO


Competition File Objective Type Questions D Multiple Choice Questions

A. The two six-membered cyclic hemiacetal forms of D-(+)-glucose are

called anomers.

B. Hydrolysis of sucrose gives dextrorotatory glucose and

laevorotatory fructose.

C. Monosaccharides cannot be hydrolysed to give polyhydroxy

aldehydes and ketones.

D. Oxidation of glucose with bromine water gives glutamic acid.

Answer: A::B::C

Watch Video Solution

1. The two cyclic hemiacetal forms of glucose differing only in the

configuration of the hydroxyl group at C-1 are called

A. epimers

https://dl.doubtnut.com/l/_ffaG7bOISfdO
https://dl.doubtnut.com/l/_RO6gxxgKgvPJ


B. Fischer projections

C. anomers

D. mutarotational isomers

Answer: C

Watch Video Solution

2. Monosaccharides are polyhydric aldehydes and ketones which cannot

be hydrolysed into simpler carbohydrates. The monosaccharides

containing  group are called aldoses while those containing 

 group are called ketoses. The aldehyde group is always present at

 while keto group is generally present at . All monosaccharides are

oxidised by Tollen's reagent and Fehling solution and are called reducing

sugars. 

The monosaccharide molecules may be assigned D and L-configurations

depending upon whether the configuration of the molecule is related to

D- or L-glyceraldehyde. If the  group is attached to the carbon

−CHO

C = O

C1 C2

−OH

https://dl.doubtnut.com/l/_RO6gxxgKgvPJ
https://dl.doubtnut.com/l/_nwU1W5x4nJWg


adjacent to the  group (last chiral carbon) is on the right hand

side, it is assigned D-configuration. The molecule is assigned L-

configuration if the -OH group attached to the carbon adjacent to the

 group is on the left. The monosaccharides contain one or

more chiral carbon atoms. Pentoses and hexoses have cyclic structures

furanose (five membered) and pyranose (six membered). During

cyclization,  in aldohexoses and  in fructose become chiral and the

newly formed -OH group may be either on the left or on the right in

Fischer projection formulae. These monosaccharides, therefore, exist in

two stereoisomeric forms called -anomer and -anomer while 

 are called glycosidic or anomeric carbon. The bonds joining

glycosidic carbon are called glycosidic linkages.  glucose exists in

two stereoisomeric forms, -D- glucose and -D-glucose. When either of

these two forms of glucose i.e., glucose are dissolved in water

and allowed to stand, these get slowly converted into other form and an

equilibrium mixture of both is formed. This process is called

mutarotation. 

The maximum number of optical isomers of glucose expected are

A. 8

−CH2OH

−CH2OH

C1 C2

α β

C1 and C2

D( + )

α β

α − D −

https://dl.doubtnut.com/l/_nwU1W5x4nJWg


B. 12

C. 16

D. 25

Answer: C

Watch Video Solution

3. Monosaccharides are polyhydric aldehydes and ketones which cannot

be hydrolysed into simpler carbohydrates. The monosaccharides

containing  group are called aldoses while those containing 

 group are called ketoses. The aldehyde group is always present at

 while keto group is generally present at . All monosaccharides are

oxidised by Tollen's reagent and Fehling solution and are called reducing

sugars. 

The monosaccharide molecules may be assigned D and L-configurations

depending upon whether the configuration of the molecule is related to

D- or L-glyceraldehyde. If the  group is attached to the carbon

−CHO

C = O

C1 C2

−OH

https://dl.doubtnut.com/l/_nwU1W5x4nJWg
https://dl.doubtnut.com/l/_j7uJy48ojTBh


adjacent to the  group (last chiral carbon) is on the right hand

side, it is assigned D-configuration. The molecule is assigned L-

configuration if the -OH group attached to the carbon adjacent to the

 group is on the left. The monosaccharides contain one or

more chiral carbon atoms. Pentoses and hexoses have cyclic structures

furanose (five membered) and pyranose (six membered). During

cyclization,  in aldohexoses and  in fructose become chiral and the

newly formed -OH group may be either on the left or on the right in

Fischer projection formulae. These monosaccharides, therefore, exist in

two stereoisomeric forms called -anomer and -anomer while 

 are called glycosidic or anomeric carbon. The bonds joining

glycosidic carbon are called glycosidic linkages.  glucose exists in

two stereoisomeric forms, -D- glucose and -D-glucose. When either of

these two forms of glucose i.e., glucose are dissolved in water

and allowed to stand, these get slowly converted into other form and an

equilibrium mixture of both is formed. This process is called

mutarotation. 

Which of the following statements is not correct?

A. Monosaccharides reduce Tollen's reagent.

−CH2OH

−CH2OH

C1 C2

α β

C1 and C2

D( + )

α β

α − D −

https://dl.doubtnut.com/l/_j7uJy48ojTBh


B. On dissolving -D-glucose in water having specific rotation , its

specific rotation decreases

C. Glucose is aldohexose while fructose is ketohexose

D. In D-glucose, -OH group is present to left at 5th carbon atom.

Answer: D

Watch Video Solution

α 111∘

4. Monosaccharides are polyhydric aldehydes and ketones which cannot

be hydrolysed into simpler carbohydrates. The monosaccharides

containing  group are called aldoses while those containing 

 group are called ketoses. The aldehyde group is always present at

 while keto group is generally present at . All monosaccharides are

oxidised by Tollen's reagent and Fehling solution and are called reducing

sugars. 

The monosaccharide molecules may be assigned D and L-configurations

depending upon whether the configuration of the molecule is related to

−CHO

C = O

C1 C2

https://dl.doubtnut.com/l/_j7uJy48ojTBh
https://dl.doubtnut.com/l/_ldlXyHyaLwou


D- or L-glyceraldehyde. If the  group is attached to the carbon

adjacent to the  group (last chiral carbon) is on the right hand

side, it is assigned D-configuration. The molecule is assigned L-

configuration if the -OH group attached to the carbon adjacent to the

 group is on the left. The monosaccharides contain one or

more chiral carbon atoms. Pentoses and hexoses have cyclic structures

furanose (five membered) and pyranose (six membered). During

cyclization,  in aldohexoses and  in fructose become chiral and the

newly formed -OH group may be either on the left or on the right in

Fischer projection formulae. These monosaccharides, therefore, exist in

two stereoisomeric forms called -anomer and -anomer while 

 are called glycosidic or anomeric carbon. The bonds joining

glycosidic carbon are called glycosidic linkages.  glucose exists in

two stereoisomeric forms, -D- glucose and -D-glucose. When either of

these two forms of glucose i.e., glucose are dissolved in water

and allowed to stand, these get slowly converted into other form and an

equilibrium mixture of both is formed. This process is called

mutarotation. 

Two forms of D-glucopyranose are called

−OH

−CH2OH

−CH2OH

C1 C2

α β

C1 and C2

D( + )

α β

α − D −

https://dl.doubtnut.com/l/_ldlXyHyaLwou


A. epimers

B. anomers

C. enantiomers

D. diastomers.

Answer: B

Watch Video Solution

5. Monosaccharides are polyhydric aldehydes and ketones which cannot

be hydrolysed into simpler carbohydrates. The monosaccharides

containing  group are called aldoses while those containing 

 group are called ketoses. The aldehyde group is always present at

 while keto group is generally present at . All monosaccharides are

oxidised by Tollen's reagent and Fehling solution and are called reducing

sugars. 

The monosaccharide molecules may be assigned D and L-configurations

depending upon whether the configuration of the molecule is related to

−CHO

C = O

C1 C2

https://dl.doubtnut.com/l/_ldlXyHyaLwou
https://dl.doubtnut.com/l/_DdwFdHIQ5Dxg


D- or L-glyceraldehyde. If the  group is attached to the carbon

adjacent to the  group (last chiral carbon) is on the right hand

side, it is assigned D-configuration. The molecule is assigned L-

configuration if the -OH group attached to the carbon adjacent to the

 group is on the left. The monosaccharides contain one or

more chiral carbon atoms. Pentoses and hexoses have cyclic structures

furanose (five membered) and pyranose (six membered). During

cyclization,  in aldohexoses and  in fructose become chiral and the

newly formed -OH group may be either on the left or on the right in

Fischer projection formulae. These monosaccharides, therefore, exist in

two stereoisomeric forms called -anomer and -anomer while 

 are called glycosidic or anomeric carbon. The bonds joining

glycosidic carbon are called glycosidic linkages.  glucose exists in

two stereoisomeric forms, -D- glucose and -D-glucose. When either of

these two forms of glucose i.e., glucose are dissolved in water

and allowed to stand, these get slowly converted into other form and an

equilibrium mixture of both is formed. This process is called

mutarotation. 

Mutarotation does not occur in

−OH

−CH2OH

−CH2OH

C1 C2

α β

C1 and C2

D( + )

α β

α − D −

https://dl.doubtnut.com/l/_DdwFdHIQ5Dxg


A. sucrose

B. D-glucose

C. L-glucose

D. none of these.

Answer: A

Watch Video Solution

6. Monosaccharides are polyhydric aldehydes and ketones which cannot

be hydrolysed into simpler carbohydrates. The monosaccharides

containing  group are called aldoses while those containing 

 group are called ketoses. The aldehyde group is always present at

 while keto group is generally present at . All monosaccharides are

oxidised by Tollen's reagent and Fehling solution and are called reducing

sugars. 

The monosaccharide molecules may be assigned D and L-configurations

depending upon whether the configuration of the molecule is related to

−CHO

C = O

C1 C2

https://dl.doubtnut.com/l/_DdwFdHIQ5Dxg
https://dl.doubtnut.com/l/_s4qiWbpKiut2


D- or L-glyceraldehyde. If the  group is attached to the carbon

adjacent to the  group (last chiral carbon) is on the right hand

side, it is assigned D-configuration. The molecule is assigned L-

configuration if the -OH group attached to the carbon adjacent to the

 group is on the left. The monosaccharides contain one or

more chiral carbon atoms. Pentoses and hexoses have cyclic structures

furanose (five membered) and pyranose (six membered). During

cyclization,  in aldohexoses and  in fructose become chiral and the

newly formed -OH group may be either on the left or on the right in

Fischer projection formulae. These monosaccharides, therefore, exist in

two stereoisomeric forms called -anomer and -anomer while 

 are called glycosidic or anomeric carbon. The bonds joining

glycosidic carbon are called glycosidic linkages.  glucose exists in

two stereoisomeric forms, -D- glucose and -D-glucose. When either of

these two forms of glucose i.e., glucose are dissolved in water

and allowed to stand, these get slowly converted into other form and an

equilibrium mixture of both is formed. This process is called

mutarotation. 

Which of the following pairs give positive Tollen's test?

−OH

−CH2OH

−CH2OH

C1 C2

α β

C1 and C2

D( + )

α β

α − D −

https://dl.doubtnut.com/l/_s4qiWbpKiut2


A. Glucose, sucrose

B. Glucose, fructose

C. Hexanal, acetophenone

D. Fructose, sucrose.

Answer: B

Watch Video Solution

7. Proteins are high molecular mass complex biomolecules of amino acids.

The important proteins required for our body are enzymes, hormones,

antibodies, transport proteins, structural proteins, contractile proteins

etc. Except for glycine, all -amino acids have chiral carbon atom and

have L-configuration. The amino acids exists as dipolar ion called zwitter

ion, in which a proton goes from the carboxyl group to the amino group.

A large number of -amino acids are joined by peptide bonds forming

polypeptides. The peptides having very large molecular mass (more than

10,000) are called proteins. The structure of proteins is described as

α

α

https://dl.doubtnut.com/l/_s4qiWbpKiut2
https://dl.doubtnut.com/l/_cJM7wWlyYRuv


primary structure giving sequence of linking of amino acids, secondary

structure giving manner in which polypeptide chains are arranged and

folded, tertiary structure giving folding, coiling or bonding polypeptide

chains producing three dimensional structures and quaternary structure

giving arrangement of sub-units in an aggregate protein meolecule. 

Which of the following -amino acid does not form optical isomers?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

α

N +H3CH(CH3)COO−

N +H3CH2COO
−

N +H3CH(CH2Ph)COO−

N +H3CH[CH(CH3)2]COO
−

8. Proteins are high molecular mass complex biomolecules of amino acids.

The important proteins required for our body are enzymes, hormones,

antibodies, transport proteins, structural proteins, contractile proteins

https://dl.doubtnut.com/l/_cJM7wWlyYRuv
https://dl.doubtnut.com/l/_eK7bN1e0JqOn


etc. Except for glycine, all -amino acids have chiral carbon atom and

have L-configuration. The amino acids exists as dipolar ion called zwitter

ion, in which a proton goes from the carboxyl group to the amino group.

A large number of -amino acids are joined by peptide bonds forming

polypeptides. The peptides having very large molecular mass (more than

10,000) are called proteins. The structure of proteins is described as

primary structure giving sequence of linking of amino acids, secondary

structure giving manner in which polypeptide chains are arranged and

folded, tertiary structure giving folding, coiling or bonding polypeptide

chains producing three dimensional structures and quaternary structure

giving arrangement of sub-units in an aggregate protein meolecule. 

Which of the following statements is not correct?

A. Amino acids exist as zwitter ions

B. All naturally occurring -amino acids have  group on the

right

C. Except glycine, all other naturally occuring -amino acids have a

chiral carbon atom.

α

α

α −NH2

α

https://dl.doubtnut.com/l/_eK7bN1e0JqOn


D. The basic character in -amino acids is due to the  group.

Answer: B

Watch Video Solution

α −COO−

9. Proteins are high molecular mass complex biomolecules of amino acids.

The important proteins required for our body are enzymes, hormones,

antibodies, transport proteins, structural proteins, contractile proteins

etc. Except for glycine, all -amino acids have chiral carbon atom and

have L-configuration. The amino acids exists as dipolar ion called zwitter

ion, in which a proton goes from the carboxyl group to the amino group.

A large number of -amino acids are joined by peptide bonds forming

polypeptides. The peptides having very large molecular mass (more than

10,000) are called proteins. The structure of proteins is described as

primary structure giving sequence of linking of amino acids, secondary

structure giving manner in which polypeptide chains are arranged and

folded, tertiary structure giving folding, coiling or bonding polypeptide

chains producing three dimensional structures and quaternary structure

α

α

https://dl.doubtnut.com/l/_eK7bN1e0JqOn
https://dl.doubtnut.com/l/_6pTGBpW2LBat


giving arrangement of sub-units in an aggregate protein meolecule. 

All proteins on hydrolysis give

A. peptides

B. -amino acids

C. amines and carboxylic acid residues

D. enzymes

Answer: B

Watch Video Solution

α

10. Tertiary structure of proteins having amino acid cysteine is achieved

through

A. primary structure

B. secondary structure

C. tertiary structure

https://dl.doubtnut.com/l/_6pTGBpW2LBat
https://dl.doubtnut.com/l/_v8DhyK5TLmWz


D. configuration.

Answer: A

Watch Video Solution

11. Tertiary structure of proteins having amino acid cysteine is achieved

through

A. enzymes

B. hormones

C. antibodies

D. lipids

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_v8DhyK5TLmWz
https://dl.doubtnut.com/l/_FSwqTuBN8gG4


Competition File Objective Type Questions D Multiple Choice Questions

Integer Type Questions

1. Among the following total number of essential amino acids: Leucine,

Alanine, Phenylalanine, Proline, Threonine, Lysine, Histidine, Arginine,

Cysteine, Tryptophan, Serine, Valine is

Watch Video Solution

2. The number of tripeptides formed by three amino acids: glycine,

alanine and serine is

Watch Video Solution

3. The number of chiral carbons in glucose is:

Watch Video Solution

β − D( + ) −

https://dl.doubtnut.com/l/_N3Ao5yCIG276
https://dl.doubtnut.com/l/_BbOOhyvQB9gl
https://dl.doubtnut.com/l/_6ZEtmIkdJCAx


4. The number of peptide hormones among insulin, testosterone,

oxytocin, thyroxine, vasopressin, cortisone is

Watch Video Solution

5. The number of fat soluble vitamins among, , E is

Watch Video Solution

D, K, B12, C, B2

6. When the following aldohexose exists in its D-configuration, the total

number of stereisomers in its pyranose form is : 

https://dl.doubtnut.com/l/_VCPHjMqMNMB1
https://dl.doubtnut.com/l/_cM94rQkHjoFo
https://dl.doubtnut.com/l/_vzexBxq3tHcz


.

Watch Video Solution

7. A tetrapeptide has  group on alanine. This produces glycine

(Gly), valine (Val), phenyl alanine (Phe) and alanine (Ala), on complete

−COOH

https://dl.doubtnut.com/l/_vzexBxq3tHcz
https://dl.doubtnut.com/l/_lM1VW9iFuFAx


Unit Practice Test For Board Examination

hydrolysis. For this tetrapeptide, the number of possible sequences

(primary structures) with  group attached to a chiral centre is :

Watch Video Solution

−NH2

1. Glycosidic linkage is :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

C1 − C4α −  linkage

C1 − C6α − linkage

C1 − C4β − linkage

C1 − C6β − linkage

https://dl.doubtnut.com/l/_lM1VW9iFuFAx
https://dl.doubtnut.com/l/_eKIrN4l8SZSw


2. In double strand helix structure of DNA, heterocyclic base cytosine

forms hydrogen bond with

A. thymine

B. Cytosine

C. Guanine

D. adenine

Answer:

Watch Video Solution

3. Which of the following hormones contains iodine ?

A. adrenaline

B. insulin thyroxine

C. thyroxine

D. testosterone

https://dl.doubtnut.com/l/_K0fERBQ0hwrn
https://dl.doubtnut.com/l/_aIsDyIrzcqZI


Answer:

Watch Video Solution

4. How are vitamins classified ? Name the vitamin responsible for the

coagulation of blood.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

Vitamin B6

Vitamin B12

Vitamin K

Vitamin H

5. Which enzyme is used in the treatment of heart disease?

Watch Video Solution

https://dl.doubtnut.com/l/_aIsDyIrzcqZI
https://dl.doubtnut.com/l/_2gp3LD8P5qLe
https://dl.doubtnut.com/l/_TGWRfaPNJMIe


6. Name the purines present in DNA.

Watch Video Solution

7. Name the enzyme present in human saliva. What type of food material

is diagested by this enzyme ?

Watch Video Solution

8. The two strands of  are not identical, but are complementary'.

Explain this statement.

Watch Video Solution

DNA

9. What are the polysaccharides that make up starch and what is the

difference between them?

https://dl.doubtnut.com/l/_TGWRfaPNJMIe
https://dl.doubtnut.com/l/_WcTSzCde3iTa
https://dl.doubtnut.com/l/_o2VjpE7pY7OC
https://dl.doubtnut.com/l/_vOZMcUTur9Sd
https://dl.doubtnut.com/l/_mASPgDdHyNNw


Watch Video Solution

10. Define the following as related to proteins : 

(i) Peptide linkage 

(ii) Primary structure 

(iii) Denaturation

Watch Video Solution

11. What are essential and non - essential amino acids? Give two examples

of each type. Explain the amphoteric behaviour of amino acids.

Watch Video Solution

12. What happenes when glucose is treated with the following

reagents? 

(i).  


D −

HI

https://dl.doubtnut.com/l/_mASPgDdHyNNw
https://dl.doubtnut.com/l/_DQFyki01JGP0
https://dl.doubtnut.com/l/_8Tg1ddKOSfXm
https://dl.doubtnut.com/l/_Kr2tWvokhntv


(ii).Bromine water 

(iii). 

Watch Video Solution

HNO3

13. (a) What are vitamin ? How are these classified. 

Name the vitamins whose deficiency causes. 

(i) rickets 

(ii) beri - beri 

(iii) night blindness. 

(c ) Give two difference between hormones and vitamins.

Watch Video Solution

https://dl.doubtnut.com/l/_Kr2tWvokhntv
https://dl.doubtnut.com/l/_aTa0KU5fwwbY

